
 



1, 

(1) 

(2) 

(3) 

(4 

(5) 

NIRJA SAHAY DAV PUBLIC SCHOOL 

Class:-X 

KANKE, RANCHI - 06 

HOLIDAY HOMEWORK, 2023-24 

ENGLISH (SOP) 
1. The Question Paper contains THREE sections-READING, GRAMMAR & WRITING and LITERATURE. 
2. Attempt questions based on specific instructions for each part. 

Read the following text. 

SECTION A: READING SKILLS (20 marks) 

Reading Comprehension Through Unseen Passages 

MM:-80 

10 m 

As a high school student, studying poetry can be a rollercoaster ride. This journey is punctuated by 
moments of profound appreciation for simpler pieces and intermittent frustration with more 
complex works. Let's be real here-some poems are just plain confusing and no amount of re-reading 
seems to help decipher the intended meaning. The puzzlement that results from such instances can 
be both vexing and demotivating. If solving a riddle is what was intended, then playing Sudoku is a 
better option. One is led to ponder if obscurity was the goal. 
Conversely, some pieces resonate with the reader's soul. stirring feelings of warmth, happiness, and 
connection to the world. Often, these compositions centre on themes that are universally 
understood, such as love, nature, or faith. Being able to actually understand what the poet is trying 
to say can feel like a little victory and is a welcome relief after grappling with more perplexing poetry. 
Then there are poems that are emotion ally charged; the ones that make the reader curl up in a ball 
and cry or jump up and down with joy. One is left in awe of the poet's ability to convey emotion 
through words. Let's not forget the downright weird poems. These are the ones that defy 
categorization and leave the reader to their own devices in attempting to interpret meaning. The 
author's use of figurative language and unconventional imagery can create a sense of bewilderment 
that is either intriguing or off-putting. Regardless, the reader can appreciate the uniqueness of the 
work. 

Answer the following questions, based on the passage above. 

Despite the wide range of emotions and reactions that come with studying poetry, it can be a 
rewarding pursuit. Not only does reading poetry allow one to appreciate the artistic beauty of the 
written word but also enables one to develop crucial critical thinking and analytical skills. The process 
of unlocking a poem's meaning can feel like cracking a code or solving a puzzle but the sense of 
accomplishment derived from mastering a challenging piece can be deeply gratifying. Finally, 
impressing an English teacher with a well-analysed poem can be a source of pride and validation. 
Overall, studying poetry is like a box of mixed chocolates, you never know what you're going to get. 
But whether it's complex, emotional, simple, or just downright weird, there's always something to 
be gained from the experience. So, let's applaud all the poets out there, for making us laugh, cry, 
scratch our heads, and occasionally feel like a genius. 

Created for academic usage/ 414 words 
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2. 

(1) 

Which of the following statements best describes the author's attitude towards studying 1 

poetry? 
A. Finds poetry to be a frustrating and meaningless endeavor. 
B. Believes that the emotional rollercoaster of studying poetry is not worth the effort. 
C. Recognizes the challenges of studying poetry but also acknowledges the rewards it 

offers. 

D. Feels that poetry is too obscure and abstract for the average person to appreciate. 
What is the tone of the writer in the given lines from paragraph (1)? Rationalise your response 
in about 40 words. 

if solving a riddle is what was intended, then playing Sudoku is a better option. One is led to 
ponder if obscurity was the goal. 
Complete the sentence appropriately. 
The author's use of vivid imagery in the paragraph (3), such as "curl up in a ball and cry" and 
"jump up and down with joy", greatly affects the reader because 
The passage includes some words that are opposites of each other. From the sets (a)-(e) 
below, identify two sets of antonyms: 

(a) intriguing and off-putting 
(c) appreciate and applaud (d) simple and challenging 

(b) deciphering and interpreting 

Complete the sentence appropriately. 

(e) emotions and feelings 

We can say that the author's tone becomes more neutral and objective when discussing weird 
poems, compared to other types of poetry because 
Based on the reading of the passage, examine, in about 40 words, how studying poetry can 
be like exploring a new city. 
What is the message conveyed by Hina's experience, in the following case? 

Hina spends hours trying to analyze a poem for her assignment and finally feels a sense of 
accomplishment and pride, once she understands. 

A. Only those with natural talent for poetry should engage with it. 
B. Persistence makes studying poetry a rewarding pursuit. 
C. Study of poetry is guaranteed to impress others. 

Read the following text. 

D. The efforts of studying poetry is inversely proportional to the rewards gained. 
State whether the following lines display an example of a simple / complex / emotionally 
charged / downright weird,poem. 

The sun rises in the east, 
A new day begins, a fresh start. 

Birds chirp, nature wakes up, 
A peaceful feeling in my heart. 
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Reduction in green areas has caused various environmental problems. People squeezed between 
concrete structures are looking for various ways to meet their longing for green. One of the 
ways to do so, is vertical gardens and green walls. Vertical gardening is a unique method of 
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gardening where plants are grown in a vertical position or upward, rather than in the traditional 
method of planting them on the ground. 

The purpose of vertical gardens and green walls, which arises from the studies of different 
disciplines (landscape architects, architects, engineers, etc.), is to close the cold image of concrete 
and increase the visual value. In these systems, nature and structures are integrated, and thus, urban 
areas and the desired environment have become intertwined. 

Vertical garden case studies often show that, though functionality should be in the foreground, 
when vertical gardens are planned, they are generally made as aesthetic elements in the city's 
underpasses and city squares, and decorative elements in residences, without seeking functionality. 

Experts support that the visual quality and evaluation of landscape architecture is determined based 
on the satisfaction of the users. Hence, a survey questionnaire was prepared for residents of varied 
age groups from of a metropolitan city. The given Table 1, displays these responses: 

Table 1-Total number of participants : 400 
Survey statements No. 

Vertical gardens 
1 

2 

3 

4 

6 

10 

11 

12 

13 

improve quality of life of people 
in urban areas 

reduce noise pollution 

increase air quality -indoors and 
outdoors 

reduce energy and water 
Consumption 

positively impact global warming 

have a relaxing and calming 
effect 

Cost too much 

make plants look beautiful 

add naturalness to the environs 

are among the determining 
factor to visiting a place 
are inconvenient indoors 

can be applied in every place 

have a functional feature 

14 distract drivers 

15 funds are best used for social 
issues 

Strongly 
agree 

191 

128 

172 

58 

114 

161 

86 

195 

135 

59 

71 

81 

34 

57 

Agree 

138 

164 

147 

47 

144 

177 

107 

139 

173 

133 

84 

132 

207 

101 

72 

Neutral Disagree 

43 

77 

51 

125 

106 

44 

152 

44 

55 

141 

123 

97 

100 

106 

100 

9 

25 

28 

68 

30 

7 

42 

6 

25 

54 

126 

77 

10 

131 

130 

Strongly 
disagree 

19 

6 

2 

2 

6 

11 

13 

16 

12 

13 

48 

23 

2 

28 

41 

The study acknowledged that vertical gardening has the potential to transform urban spaces into 
green, sustainable areas, and further research should explore the impact of vertical gardening on the 
environment and human well-being. 



Answer the following questions, based on the passage above 
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Complete the following analogy appropriately, based on your understanding of paragraphs 1 
&2. 

We can say that the situation of people living in concrete structures is comparable with a fish 
living in a fishbowl, and the need for vertical gardens to the need for decorations in the 
fishbowl because 
Fill the blanks with the appropriate option from those given in brackets, based on your 
understanding of paragraph 2. 
The statement that , urban spaces have become more closely connected with the desired 
natural surroundings through the incorporation of nature and structures in vertical gardens 
and green walls, is a (fact/ opinion) because it is a 
judgement/ objective detail). 
Justify the following, in about 40 words. 
While the survey results suggest that vertical gardens may be effective improving the 
quality of life in urban areas, further research and evaluation may be necessary to fully 
understand their effectiveness and potential drawbacks. 

Adapted for academic usage - 2019 case-study -Investigating the vertical garden applications in Turkey 
225 words approx. 

Based on the survey results, which two concerns should a city government, looking to install 
vertical gardens, address? 
In Table 1, the statement 3, "Vertical gardens increase air quality - indoors and outdoors," 
received the most neutral responses from participants, with 51 respondents indicating a 
neutral stance. State any one inference that can be drawn from this. 

Select the option that correctly displays what "intertwined' signifies. (Reference-Paragraph 2) 

(i) 

A. (),(iv) and (v) 
B. Only (ü) 
C. Only (ii) 
D. (ii) and (v) 

A. an indefinite 
B an exclusive 
C. a combined 

D. a standard 

(ii) (ii) 

In the given sentence taken from paragraph 1, select the option that correctly replaces the 
underlined word, with its most likely antonym. 

(subjective 

(iv) 

FOR THE VISUALLY IMPAIRED CANDIDATES 

(v) 

Vertical gardening is a unique method of gardening. 
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viii Which of the following is the main takeaway from the study mentioned in the passage? 
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i 

ii 

Infer one benefit and one drawback of vertical gardening, in comparison to other solutions, 
such as community gardens or parks. (Answer in about 40 words) 

iv 

A. Vertical gardening has minimal impact on the environment or human well-being. 
B. Vertical gardening is a sustainable practice that can transform urban spaces into green 

areas. 

C. The impact of vertical gardening on the environment and human well-being has 
already been thoroughly explored. 

D. The study needs to include experts from horticultural firms to offer any 
recommendations for further research. 

SECTION B:WRITING SKILLS & GRAMMAR (20 marks) 

Complete ANY TEN of twelve of the following tasks, as directed. 

Dear Sir 

Fill in the blank by using the correct form of the word in the bracket, for the given portion of 
a letter: 

This is with reference to committee's letter of recommendation that 

GRAMMAR 

nominations for 'Safe Residential Area' award for this current year. 
Read the given sentence from a recipe review article. ldentify the error and supply the 
correction in the sentence. 

This delightful recipe must keep your hunger pangs at bay with its balanced spices and 
oriental flavour. 

Use the given format for your response. 

error 

Abhilash and Neha had a conversation about the inauguration of Neha's Dance Academy. 
Report Abhilash's question. 

Sara asked Shabnam 

Is your best friend helping you in this ven ture? 

Correction 

Read the dialogue between Shabnam and her mentor, Sara, regarding her summer internship 
programme. 

(highlight) the 

Sara: Why did you choose to participate in this internship programme? 
Shabnam: Ah! l am convinced this programme has the potential to enhance my abilities. 

Select the correct option to complete the reporting of the above dialogue. 

A. why to choose to participate 
B. to choose participation 

in that internship programme. 

Shabnam sighed and exclaimed that she was convinced that programme had the potential to 
enhance her abilities. 

C. why he had chosen to participate 

1 
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D. with her choice in participating 

X 

Fill the blank by choosing the correct option, to complete the concluding line of an issued 
ircular by an Organisation, to its Managers. 

A copy of the plan is enclosed and 
Team Leaders for compliance. 
ldentify the error and supply correction for the given sentence from a commercial company's 
current marketing strategy. 
The company aimed at increasing authority in areas frequently visited by the clients. 

Select the option that identifies the error and supplies the correction for the closing line, from 
an analytical report. 

Use the given format for your response. 

in conclusion, this study explores the association among short-sleep pattern and overweight 
youngsters. 

A. feeling 
B. having felt 

(that/ then/ this) may be communicated to all 

error 

C. felt 

Option No. 

D. feels 

The experience of nursing an injured bird left me 

B 

viii Complete the given narrative, by filling the blank with the correct option. 

Vendor: It is nice to see you, Sir! 

correction 

error 

explores 
and 

among 
In 

importance of being kind and compassionate to all creatures. 

Congratulations Change Makers! 

Correction 

explore 
or 

between 
for 

Report the dialogue between a vendor and his customer, by completing the sentence: 

grateful for knowing the 

Customer: Yes, indeed! Unlike last month, I have been away for quite some time this month. 

The vendor greeted his customer respectfully and mentioned that he was pleased to see him. 
The customer answered the affirmative and explained that 

Fill the blank by choosing the correct option to complete the live feed on a school news 
channel. 

The regional competition awards have been announced and our school music club 
the first prize. 

1 

1 

1 
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A. had been won 
B. will win 

C. was winning 
D. has won 

Complete the line from a self- awareness song, by filling the blank with the correct option. 

A. will call 
B. call 
C. had called 

D. calls 

The river runs through your veins 
The trees and mountains your name 

The moon and stars watch over 

You're guiding your way back home 
To dream the night away. 

ldentify the error and supply correction for the following note in a passengers' flight 
instruction manual: 

Note- Passengers will not reach the airport late in order to avoid 

a fine equivalent to 5% of the basic fare. 

Use the given format for your response. 

error 

WRITING 

Correction 

Note : AIl details presented in the questions are imaginary and created for assessment purpose. 
4.A As Vaishali Nathani of 214, Indrayani Apartments, Vaishali Street, Daipur, you believe that 

forming Ecology clubs and appointing Eco-minders in your city can aid in the preservation and 
conservation of nature. 

Write a letter to the MLA of your city area, in about 120 words, suggesting the need to form 
such clubs. Share their importance and implications. Recommend the involvement of resident 
volunteers for implementation of eco-club activities that nurture and protect the local 
ecosystem. 

OR 

4.B As Armaan Khan, the School Literary Captain of Uijwal Academy, Old City, Kiladerabad, you 
believe that languages can help bridge regional divides and promote unity. 
Write a letter to the Editor ofa national daily, in about 120 words, suggesting the introduction 
of an online regional language learning programme managed and run by student councils and 
language clubs in the city. The programme aims to help residents who have recently relocated 
to a new region in picking up the local language organically. Share the importance and 

10 

5 



credibility of such a programme and suggest a feasible way to execute it along with possible 
activities. 

5.A Tsering, of class X, is contesting for the post of the Junior School Captain, in the upcoming 
student council elections. Given below is her character traits' graphic, shared in the public 
domain, by the school counsellor, for the awareness of student voters, at school. 

Works 
hard to 

achieve 

goals 

You may begin like this : 

Is less 
impulsive 
but highly 
sensitive 

Believes in 
One for all 
and all for 

You may end like this: 

one 

Is an verage 
ademic 

performer. 

Helps his peers 
in their 

difficulties 
academic or 

personal. 

Thrives only 
on 

appreciation 

OR 

Maintains 

disciplined 
study 

All Tsering's peers have been asked to write a paragraph in about 120 words, analysing these 
traits, to either support or oppose her candidature. As one of her peers, write this analytical 
paragraph, by selecting some of the traits that support your analysis. 

routine 

Tour Travel & sightseeing by bus. 
Accommodation on quad sharing basis. 

Exhibits 

As a responsible student voter, I believe Tesring possesses/does not possess the necessary traits to be a School 
Captain. 

One staff complimentary for every 20 students. 

good 
decision 

making skils 

. Bottled mineral water throughout the tour. 

Focuses on 
excellent 

For these reasons, I believe she has/ does not have the potential to be a good School Captain and I support / 
oppose her candidature. 

outcome 

5.B As the Captain of the school's Cultural Club, you have been asked to study the given itinerary 
provided by a tour-organizing vendor. 

A 3N/2D Educational Tour for the Senior School Students: 
Jabalpur and Ranha National Park (Vandhya Pradesh) 

5 
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A 

Dance Party on 22 November. 

2023 

Insurance policy of 20,000/- per head. 

Day 

Provision of Tour Manager's assistance to all places. 

22 Nov. 

25 

2023 

23 Nov. 

2023 

24 Nov. 

2023 

Estimated time of 
departure from 

8:49 am (Nagpur 
Junction)-8 hrs. 30 
min 

|9:00am (hotel) 

11:00am (garden) 

12:40pm (falls) 

2:00pm (restaurant) 

3:45pm 
Rocks) 
6:15pm (museum) 

4:30pm 
Reserve) 

Nov. 7:54 am (Jabalpur 

Estimate 

Railway station)-8 
hrs. 45 min 

You may begin like this: 

d time 
of arrival 

You may end like this: 

5:23 pmReporting at the hotel 

5:30am (hotel)- 170 9:30am 
kms- 4 hrs. drive 

10:00am Bhawartal Garden 

(Marble4:45 pm 

11:40am Bhedaghat Dhuandhar 
Falls 

1:00pm 

2:15pm 

Sight-seeing 
Destination/ Activity 

7:00pm 

(Tiger9:00pm 

Lunch (nearby 
restaurant) 
Marble Rocks Cable car 
tour 

Rani Durgavati Museum 

Back to the hotel 

Ranha Tiger Reserve 

Back to the hotel 

4:21 pmNagpur Railway Junction 

Time spent 
at the 

destination 

Therefore, the tour proposal for the educational trip should be approved /rejected. 

1 hr. 

1hr. 

1 hr. 

1hr. 30 mins 

Analyse this itinerary to either approve or reject the tour proposal, while focusing on the 
students' safety, interest, and physical wellness. Write this analytical paragraph in about 120 
words, by selecting features that support your analysis. 

"Everyone assumed the spots were just ornamental," Ebright said. 
"But Dr Urquhart didn't believe it." 

1 hr. 30 

mins 

A thorough analysis of the itinerary provided by the tour organizing vendor reveals that the tour proposal should 
be accepted / rejected. 

7hrs. 

SECTIOND: LITERATURE TEXTBOOK AND SUPPLEMENTARY READING TEXT (40 marks) 
Read the given extracts and answer the questions for ANY ONE of the two, given. 5 

The question he tried to answer was simple: What is the purpose of the twelve tiny gold spots on a 
monarch pupa? 
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To find the answer, Ebright and another excellent science student first had to build a device that 
showed that the spots were producing a hormone necessary for the butterfly's full development. This 
project won Ebright first place in the county fair and entry into the Internation al Science and 
Engineering Fair. There he won third place for zoology. He also got a chance to work during the 
summer at the entomology laboratory of the Walter Reed Army Institute of Research. 

State any one inference about Dr Urquhart from the given context: 
Everyone assumed the spots were just ornamental," Ebright said. 
"But Dr Urquhart didn't believe it." 
State TRUE or FALSE. 

None of the terms (a) -{d) below, can be applied to the question - What is the purpose of 
the twelve tiny gold spots ona monarch pupa? 
(a) A hypothesis - a proposed explanation for a phenomenon 
(b) An assumption - something that is taken for granted or assumed to be true without 
proof 
(c) A premise - a proposition that forms the basis of an argument 
(d) A theory- a well-substantiated explanation for a natural phenomenon 
Ebright's approach towards finding the purpose of the gold spots on a monarch pupa was 
highly effective. Elaborate in about 40 words, with reference to the extract. 
Which phrase would correctly substitute 'a chance', in the given sentence from the 
extract. 

He also got a chance to work during the summner at the entomology laboratory of the 
Walter Reed Army Institute of Research. 

(The Making of a Scientist) 

(The Proposal) 

A. He is already 35 years old. 

Which of the following is NOT a reason why Lomov thinks he must marry? 

B. He suffers from palpitations. 

OR 

C. He is excitable and easily upset. 

LOMOV : It's cold.. I'm trembling all over, just as if l'd got an examination before me. The great thing 
is, I must have my mind made up. Ifl give myself time to think, to hesitate, to talk a lot, to look for 
an ideal, or for real love, then Ill never get maried. Brr...It's cold! Natalya Stepanovna is an excellent 
housekeeper, not bad-looking, well-educated. What more do I want? But I'm getting a noise in my 
ears from excitement. (Drinks) And it's impossible for me not to marry. In the first place, I'm already 
35- a critical age, so to speak. In the second place, I ought to lead a quiet and regular life. I suffer 

D. He is in love with Natalya. 
Why is it fair to say that Lomov's tone, when he says "What more do I want?", is uncertain 
and questioning? Answer in about 40 words. 
Read the following descriptions (a)-(c) and identify which one correctly corresponds to the 
extract. 

1 

(a) A debate is a formal discussion on a particular topic, usually with two or more people 
presenting different viewpoints and arguments. 

1 

2 

1 

1 

2 

1 

from palpitations, I'm excitable and always getting awfully upset; at this very moment my lips are 
trembling, and there's a twitch in my right eyebrow. 
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(b) A soliloquy is a speech given by a character alone on stage, which reveals their innermost 
thoughts and feelings to the audience. 
(c) An aside is a brief comment or remark made by a character directly to the audience, 
which is not intended to be heard by other characters on stage. 

If an actor were to enact this extract, what would he be required to focus on, while 
modulating his voice? 
Read the given extracts and answer the questions for ANY ONE of the two, given. 
But if it had to perish twice, 

I think I know enough of hate 
To say that for destruction ice 
Is also great 
And would suffice. 

(Fire and lce) 
Fill the blank with one word. 

When the speaker says that ice could also bring about the end of the world, he refers to 
as the means for destruction. 

What does the speaker's alignment with those who favour ice, suggest? 
Which of the following best describes the speaker's attitude towards destruction caused by 
ice? 

A. Indifferent 
B. Fearful 

C. Dismissive 

D. Respectful 
Comment on the poet's use of language in these lines. 

The fog comes 

on little cat feet. 
It sits looking 

over harbour and city 
on silent haunches 

and then moves on. 

(Fog) 

In what way does the language used in this poem challenge traditional ideas of what poetry 
should be? 

What is the significance of the use of the word "little" to describe the fog in the poem and 
how does this word choice contribute to the overall mood and tone of the poem? Answer 
in about 40 words. 

Complete the sentence with the appropriate option. 
The lines from the poem tell us that the city is 

A. hilly 

OR 

B. coastal 

C. industrial 

D. under-developed 

1 

1 

1 

1 

2 

1 

2 

1 
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(A) 

Identify the type of imagery used in the lines of the poem. 

11 

Answer ANY FOUR of the following five questions, in about 40-50 words. 
Justify the opinion that the traditional baker and his bread play a significant role in the 
cultural and social fabric of Goan society. (Glimpses of India-) 

How does Leslie Norris use vivid imagery and metaphorical language in A Tiger in the Zoo, 
to effectively depict the confinement and oppression, experienced by the captive tiger. 
Explain how the description of the devastation caused by the hailstorm reflects the sadness 
within Lencho, in A Letter to God? 
Refer to the given lines, from the text -
Not a leaf remained on the trees. The corn was totally destroyed. The flowers were gone 
from the plants. Lencho's soul was filled with sadness. 
Kitty was a trusted friend to Anne. Elaborate. 
(From the Diary of Anne Frank) 
How does Ogden Nash's The Tale of Custard the Dragon, challenge the notion that 
individuals should conform to societal expectations? 
Answer ANY TWO of the following three questions, in about 40-50 words. 
The story, A Triumph of Surgery is a powerful example of the importance of saying "no". 
Explain. 
How does education play a transformnative role in Bholi's life? 
(Bholi) 
The various elements of Robert Arthur's writing style work together to create a sense of 
tension, uncertainty, and suspense, well-suited to the mystery and suspense genre of the 
story, The Midnight Visitor. Comment, with reference to any one element. 
Answer ANY ONE of the following two questions, in about 100-120 words. 

You may begin this way: 
One acknowledges that both parents, Amanda's mother and the baby seagull's mother both...however, ... 

(Reference -Amanda! & His First Flight) 

You may begin this way: 

OR 

You may end this way. 

1 

To conclude, I'd like to say that ... 

4x3=12 

You have been asked to present an evaluation of the approaches of the mothers of both, the baby 
seagull and Amanda, towards helping their children. Write this presentation draft including your 
insights, in about 120 words, comparing the approaches of both parents. 

Thank you 

3 

3 

Answer ANY ONE of the following two questions, in about 100-120 words. 

3 

3 

(B) You have been chosen to address a student gathering from the neighbourhood schools, to speak on 

3 

2x3=6 

3 

the resilience of human spirit required to transcend discrimination. Prepare the speech draft in not 
more than 120 words, with reference to the commonality of themes in Nelson Mandela: Long Walk 
to Freedom and The Trees by Adrienne Rich. 

3 

1x6=6 

Good morning, everyone. Today, d like to discuss two pieces of literature that offer a powerful insight into the resilience 
of the human spirit required to transcend discrimination. 

lx6=6 



(A) Imagine that M. Loisel, from The Necklace by Guy de Maupassant, writes a diary entry, exploring the 

(B) 

theme of class and social status, and the nature of social mobility, in the context of his own 
experience. 
Write this diary entry , as M. Loisel, in about 120 words. 

OR 

A character arc is the transformation or development of a character throughout a story and refers to 
the changes a character undergoes as a result of their experiences, challenges, and interactions with 
other characters. 

In the light of the above information, trace the character arc of the thief in Ruskin Bond's The Thief's 
Story, in about 120 words. 
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DURGA PUJA HOLIDAY HOMEWORK 

 

GeneralInstructions: 
 

1. ThisQuestionpapercontains-

fivesectionsA,B,C,DandE.Eachsectioniscompulsory.However,thereareinternalchoicesinsomeques

tions. 

2. SectionAhas18MCQ’sand02Assertion-Reasonbasedquestionsof1markeach. 

3. SectionBhas5VeryShortAnswer(VSA)-typequestionsof2markseach. 

4. SectionChas6ShortAnswer(SA)-typequestionsof3markseach. 

5. SectionDhas4LongAnswer(LA)-typequestionsof5markseach. 

6. SectionE has 3 source based/casebased/passagebased/integrated units 

ofassessment(4markseach)withsub parts. 

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2 

Questions of 2 marks has been provided. 

8. Draw neat figures wherever required. Take π =22/7 wherever required if not stated. 

 

SECTION – A 

( Multiple Choice Questions) 

Each question carries 1 mark 

1. The LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600. If onenumber is 280, then the 

other number is 

(a) 20                               (b) 28                                (c) 60                            (d) 80 

2. When 2120 is expressed as the product of its prime factors we get 

(a) 2 × 5³ × 53                  (b) 2³ × 5 × 53                    (c) 5 × 7² × 31                    (d) 5² × 7 × 33 

3. If p and q are the zeroes of the quadratic polynomial f(x) = 2x2– 7x + 3, find the value of p + q – pq is 

(a) 1                                   (b) 2                                  (c) 3                    (d) None of these 

4. The pair of linear equations 2x + 3y = 5 and 4x + 6y = 10 is 

(a) inconsistent    (b) consistent    (c) dependent consistent(d) none of these 

5. Points A(3, 1), B(5, 1), C(a, b) and D(4, 3) are vertices of a parallelogram ABCD. The values ofa and b are 

respectively 

(a) a = 6, b = 3                          (b) a = 2, b = 1                (c) a = 4, b = 2                  (d) None of these 

6. If ∆ABC ∼ ∆DEF, BC = 3 cm, EF = 4 cm and area of ∆ABC = 54 cm2. Then the area of ∆DEF is 

(a) 54 cm2                     (b) 88 cm2                      (c) 96 cm2                         (d) 108 cm2 

7. If sec A = 15/7 and A + B = 90°, find the value of cosec B. 

(a) 8/7                                   (b) 12/7                       (c) 7/15                            (d) 15/7 

8. In ΔABC, right angled at B, AB = 5 cm and sin C = 1/2. Determine the length of side AC. 
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(a) 10 cm   (b) 15 cm    (c) 20 cm   (d) none of these 

9. In the ∆ABC, D and E are points on side AB and AC respectively such that DE || BC. If AE = 2cm, AD = 3 cm and 

BD = 4.5 cm, then CE equals 

(a) 1 cm                              (b) 2 cm                                (c) 3 cm                                (d) 4 cm 

10. ABCD is a trapezium with AD ∥ BC and AD = 4cm. If the diagonals AC and BD intersect eachother at O such that 

AO/OC = DO/OB =1/2, then BC = 

(a) 6cm                               (b) 7cm                                 (c) 8cm                               (d) 9cm 

11. If the angle between two radii of a circle is 140°, then the angle between the tangents at the endsof the radii is 

(a) 90°                            (b) 50°                             (c) 70°                                 (d) 40° 

12. The number of revolutions made by a circular wheel of radius 0.7 m in rolling a distance of 176m is 

(a) 22                                (b) 24                               (c) 75                           (d) 40 

13. The area of the square that can be inscribed in a circle of radius 8 cm is 

(a) 256 cm²                  (b) 128 cm²                      (c) 64√2 cm²                    (d) 64 cm² 

14. The ratio of the total surface area to the lateral surface area of a cylinder with base radius 80 cmand height 20 cm is 

(a) 1 : 2                            (b) 2 : 1                             (c) 3 : 1                       (d) 5 : 1 

15. The mean and mode of a frequency distribution are 28 and 16 respectively. The median is 

(a) 22                              (b) 23.5                      (c) 24                       (d) 24.5 

16. The median class of the following data is: 

 

Marks 

 

0-10 

 

10-20 

 

20-30 

 

30-40 

 

40-50 

 

50-60 

 

No. of 

students 

 

8 

 

10 

 

12 

 

22 

 

30 

 

18 

 

 (a) 20 – 30                       (b) 30 – 40                              (c) 40 – 50                      (d) 50 – 60 

17. Two dice are thrown simultaneously. What is the probability of getting doublet? 

(a) 1/36                             (b) 1/6                                       (c) 5/6                            (d) 11/36 

18. If 4 tan θ = 3, then the value of  
4𝑠𝑖𝑛𝜃−𝑐𝑜𝑠𝜃

4𝑠𝑖𝑛𝜃+𝑐𝑜𝑠𝜃
  is- 

(a) 1/2                              (b) 1/3                                        (c) 1/4                                 (d) 1/5 

ASSERTION-REASONBASEDQUESTIONS 

DIRECTION:Inthefollowingquestions,astatementofassertion(A)isfollowedbyastatementofReason(R).Choo

sethecorrectansweroutofthefollowingchoices. 

(a) BothAandRaretrueandRisthecorrectexplanationofA. 

(b) BothAandRaretruebutRisnotthecorrectexplanationofA. 

(c) AistruebutRisfalse. 

(d) AisfalsebutRistrue. 

19.Statement A (Assertion): The number 6n never end with digit 0 for any natural number n.. 

Statement R( Reason) : The number 9n never end with digit 0 for any natural number n. 

20. Statement A (Assertion): The value of y is 6, for which the distance between the points P(2, –3) and 

Q(10, y) is 10. 

Statement R( Reason) : Distance between two given points A (x1, y1) and B (x2, y2) is given by 

AB = √(𝑥2 − 𝑥1)2 + (𝑦2 − 𝑦1)2 
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SECTION – B 

(Thissectioncomprisesofveryshortanswertype-questions(VSA)of2markseach) 

 

21. For what value of k given system of equation represent parallel lines 3x+2ky=2 and 2x+5y=1 

22.  XY and MN are the tangents drawn at the end points of the diameter DE of the circle withcentre O. 

Prove that XY || MN.   

23. A metallic cube of edge 1 cm is drawn into a wire of diameter 4mm, then find length of wire. 

24. A well whose diameter is 7m has been dug 22.5m deep and the earth dug out is used to form an 

embankment around it. If the height of embankment is 1.5m, find width of embankment. 

25. Find A and B, if sin (A + 2B) = √3/2 and cos (A + B) = 1/2. 

OR 

   If (1 + cos A) (1 – cos A) = 3/4 , find the value of tan A. 

SECTION – C 

(Thissectioncomprisesofshortanswertypequestions(SA)of3markseach) 

 

26. Prove that √5 is and irrational number. 

27. Find the zeroes of the quadratic polynomial 6x2– 7x – 3 and verify the relationship between the 

zeroes and the coefficients of the polynomial. 

28. A part of monthly hostel charges in a college is fixed and the remaining depends on the number 

of days one has taken food in the mess. When a student ‘A’ takes food for 22 days, he has to 

pay Rs. 1380 as hostel charges; whereas a student ‘B’, who takes food for 28 days, pays Rs. 

1680 as hostel charges. Find the fixed charges and the cost of food per day. 

OR 

The ratio of income of two persons is 9 : 7 and the ratio of their expenditure is 4 : 3, if each of 

them manage to save Rs. 2000/month. Find their monthly incomes. 

29. Prove that:  
𝑠𝑖𝑛𝜃−𝑐𝑜𝑠𝜃+1

𝑠𝑖𝑛𝜃+𝑐𝑜𝑠𝜃−1
=

1

𝑠𝑒𝑐𝜃−𝑡𝑎𝑛𝜃
 . 

30. Prove that opposite side of quadrilateral circumscribing a circle substend supplementary angles at the 

centre of the circle. 

OR 

Prove that a parallelogram circumscribing a circle is a rhombus. 

31. One card is drawn at random from a well-shuffled deck of 52 playing cards. Find the probability 

that the card drawn is (i) either a red card or a king, (ii) neither a red card nor a queen. 

SECTION – D 

(Thissectioncomprisesoflonganswer-typequestions(LA)of5markseach) 

 

32. Two water taps together can fill a tank in9
3

8
 hours. The tap of larger diameter takes 10 hours less than the 

smaller one to fill the tank separately. Find the time in which each tap can separately fill the tank. 

OR 

A rectangular park is to be designed whose breadth is 3 m less than its length. Its area is to be 4 

square metres more than the area of a park that has already been made in the shape of an 

isosceles triangle with its base as the breadth of the rectangular park and of altitude 12 m. Find 

its length and breadth. 



Page 4 of 8 
 

33. Prove that if a line is drawn parallel to one side of a triangle intersecting the other two sides in 

distinct points, then the other two sides are divided in the same ratio. 

Using the above theorem prove that a line through the point of intersection of the diagonals and 

parallel to the base of the trapezium divides the non parallel sides in the same ratio. 

34. A vessel is in the form of an inverted cone. Its height is 8 cm and the radius of its top which is 

open, is 5 cm. It is filled with water upto the brim. When lead shots, each of which is a sphere of 

radius 0.5 cm are dropped into the vessel, one-fourth of water flows out. Find the number of 

lead shots dropped into the vessel. 

OR 

A copper wire of diameter 8 mm is evenly wrapped on a cylinder of length 24 cm and diameter 

49 cm to cover the whole surface. Find (i) the length of the wire (ii) the volume of the wire. 

35. If the median of the distribution given below is 28.5, find the values of x and y. 

 

Class 0-10 10-20 20-30 30-40 40-50 50-60 Total 

Frequency 5 x 20 15 y 5 60 

 

SECTION – D 

(Case study based questions are compulsory.) 

36. Anita’s mother start a new shoe shop. To display the shoes, she put 3 pairs of shoes in 1st row, 5 

pairs in 2nd row, 7 pairs in 3rd row and so on. 

On the basis ofabove information, answer the following questions. 

(i) If she puts a total of 120 pairs of shoes, then find the number of rows required. 

(ii) What is the difference of pairs of shoes in 17th row and 10th row. 

37. Find the length of the median drawn through A on BC of triangle ABC whose vertices are A(7,-3) B(5,3) 

and  C(3,-1). And also find the distance of point A(7,-3) from centroid of triangle.  

38. A 1.2 m tall girl spots a balloon moving with the wind in a horizontal line at a height of 88.2 m 

from the ground. The angle of elevation of the balloon from the eyes of the girl at any instant is 

60°. After 30 seconds, the angle of elevation reduces to 30°.  

Based on the above information, answer the following questions. (Take √3 =1.732) 

(i) Find the distance travelled by the balloon during the interval. 

(ii) Find the speed of the balloon 
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GeneralInstructions: 

 

1. ThisQuestionpapercontains-

fivesectionsA,B,C,DandE.Eachsectioniscompulsory.However,thereareinternalchoicesinsomeques

tions. 

2. SectionAhas18MCQ’sand02Assertion-Reasonbasedquestionsof1markeach. 

3. SectionBhas5VeryShortAnswer(VSA)-typequestionsof2markseach. 

4. SectionChas6ShortAnswer(SA)-typequestionsof3markseach. 

5. SectionDhas4LongAnswer(LA)-typequestionsof5markseach. 

6. SectionE has 3 source based/casebased/passagebased/integrated units 

ofassessment(4markseach)withsub parts. 

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2 

Questions of 2 marks has been provided. 

8. Draw neat figures wherever required. Take π =22/7 wherever required if not stated. 

 

SECTION – A 

1. ∆𝐴𝐵𝐶 𝑎𝑛𝑑 ∆𝐷𝐸𝐹 are similar such that 2 AB = DE and BC= 8cm , then the value of EF is  

(a)  15 cm                  (b) 16 cm                             (c) 18 cm                 (d) None of these 

2. If the circumference of a circle exceeds its diameter by 30 cm , then the radius of the circle is  

(a)  7 cm                     (b) 8cm                            (c)     4 cm                 (d) 6 cm  

3. If the first term of an AP is 2 and common difference is 4 , then the sum of its 40 terms is 

(a) 3000                    (b) 2800                            (c) 3200                       (d) None of these  

4. The common difference of an AP in which T18 – T14 = 32 is  

(a) 0                            (b) 1                                 (c) 4                           (d) 8 

5.If P(-2,2) is the mid- point of the line segment joining A(-5,b) and B(b,3), then the value of b is  

(a) 0                            (b) -1                                 (c) 1                            (d) 2  

6. In the given figure , AT is a tangent to the circle with centre O such that OT = 4cm and ∠ 𝑂𝐴𝑇𝐴 = 30 °. 

    (a) √3   (b) 2√3             (c) 2                           (d) None of these 

      T 

 

       300        A 

 

 

7. The length of a tangent drawn to a circle, with radius 5 cm, from a point 13 cm away from the centre of 

the circle, is  
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(a) 12cm            (b) 10 cm      (c) 13cm     (d) None of these  

8.  In a lottery ticket, there are 10 prizes and 25 blanks, the probability of not getting a prize is  

(a) 
7

5
 (b)

5

7
     (c) 1              (d) 0 

9.If the graph of a quadratic polynomial does not intersect the X- axis , then the number of zeroes is  

(a)  2      (b)  1  (c) 0      (d) None of these  

10. If the mean of first n natural numbers is 
5𝑛

9
, then the value of n is  

(a)  5         (b) 7        (c) 9        (d) 0 

11. The centroid of ∆𝑃𝑄𝑅 whose vertices are P(-8,0), Q(5,5) and R(-3,-2) is 

(a) (-2,1)       (b) (1,-2)          (c)(2, 1)       (d) (1,2) 

12. The value of 2 tan2θ+ cos2θ -2 , if θ is an acute angle and sinθ = cosθ  , is  

(a) 0            (b) 1              (c)  
−1

2
  (d)

1

2
 

13. In a rectangle ABCD,AB= 40 cm, ∠𝐵𝐴𝐶 = 30° , then side BC is is 

(a) 
40√3

3
cm           (b) 

20√3

3
 cm         (c) 

20

√3
cm       (d) None of these  

14. If 𝛼 𝑎𝑛𝑑 𝛽 are zeroes of polynomial f(x) = x2-5x+k such that 𝛼 − 𝛽 =1 , then the value of 4k is  

(a) 12          (b) 24            (c) 10       (d) 20 

15. The HCF of 96 and 404  is 

(a) 0           (b) 4        (c) 2        (d) 12 

16.
1+𝑐𝑜𝑡2𝜃

1+𝑡𝑎𝑛2𝜃
 is equal to  

(a) tan2θ         (b) sec2θ     (c) cosec2θ-1       (d) 1-sin2θ 

17. A wire is in the shape of a circle of radius 21 cm. It is bent in the form of a square. The side of square is 

(take 𝜋 =
22

7
) 

(a) 22 cm       (b) 33 cm     (c) 44 cm      (d) 66 cm 

18. The area of a quadrant of a circle whose circumference is 20 cm, is  

(a) 127.27 cm2   (b) 7.92 cm2 (c) 79.2 cm2  (d) None of these 

ASSERTION-REASONBASEDQUESTIONS 

DIRECTION:Inthefollowingquestions,astatementofassertion(A)isfollowedbyastatementofReason(R).Choo

sethecorrectansweroutofthefollowingchoices. 

(e) BothAandRaretrueandRisthecorrectexplanationofA. 

(f) BothAandRaretruebutRisnotthecorrectexplanationofA. 

(g) AistruebutRisfalse. 

(h) AisfalsebutRistrue. 

19. Statement A (Assertion) The diastance of a points P (x,y) from the origin is √𝑥2 − 𝑦2 . 

Statement R (Reason) If P (-1,1) is the mid-point of the line segment joining A (-3,b) and B (1,b+4), then 

the value of b is  -1.  

20. Statement A (Assertion) n2-n is divisible by 2 for every positive integer. 

Statement R (Reason) √2 is not a rational number. 

SECTION B 

Section B consists of 5 question of 2 marks each 

21. A right circular cone of radius 3 cm had a curved surface are of 47.1 cm2. Find the volume of cone. 

(take 𝜋= 3.14) 
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22. Solve quadratic equation: 9x2-15x+6=0. 

OR 

Solve quadratic equation: 9x2-3(a+b)x+ab=0 

23. Prove that the tangent at the extremeties of any chord make equal angle with the chord. 

OR 

Prove that the angle between two tangents drawn from an external point and angle form by  them at the 

centre are supplementary. 

24. If cos 𝜃 = 
√3

2
, then find the value of 

1

𝑡𝑎𝑛𝜃
+

𝑠𝑖𝑛𝜃

1+𝑐𝑜𝑠𝜃
 . 

25. If the ∆ ABC ~∆ DEF such that DE= 6 cm, EF= 4 cm, DF= 5 cm and BC= 8 cm, then find perimeter of 

∆ ABC. 

SECTION C 

Section C consists of 6 questions of 3 marks each. 

26. Prove that  
𝑠𝑖𝑛𝜃

1−𝑐𝑜𝑠𝜃
 = cosec 𝜃 + cot 𝜃. 

OR 

Prove that  
𝑠𝑖𝑛𝜃−2𝑠𝑖𝑛3𝜃

2𝑐𝑜𝑠3𝜃−𝑐𝑜𝑠𝜃
  =  𝑡𝑎𝑛𝜃. 

27. If 10th terms of an A.P is 52 and 17th terms is 20 more than 13th terms find the A.P. 

28. If point (p,q);(m,n) and (p-m,q-n) are collinear, then show that pn=qm. 

29. A two digit number is such that the product of digits is 12, when 36 is added to the number digit 

interchange their places. Formulate the quadrartic equation and find roots of the quadratic equation. 

OR 

Find value of k for which the given equation has real and equal roots.(k+1) x2- 2(k-1) x +1 = 0 

30. A boat goes 12 km upstream and 40 km downstream in 8 hrs. It can go 16 km upstream and 32 km 

downsreamin the same time. Find the speed of stream. 

31. What is the smallest number that when divided by 35, 56 and 91 leaves remainder 7 in each case. 

SECTION-D 

Section D consists of 4 questions of 5 marks each. 

32. Solve: 
5

𝑥−1
+

1

𝑦−2
 = 2,  

6

𝑥−1
−

3

𝑦−2
 = 1. 

OR 

Solve: 21x + 47y = 110,47x + 21y = 162. 

 

33. If the mean of the following distribution is 54, find value of p. 

Class 0-20 20-40 40-60 60-80 80-100 

Frequency 7 p 10 9 13 

 

OR 

If mean of the following distribution is 50, find missing frequency. 

Class 0-20 20-40 40-60 60-80 80-100 Total 

Frequency 17 x 32 y 19 120 
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34. Water in a canal 1.5m wide and 6 m deep is flowing with a speed of 10km/hr .How much area will it 

irrigate in 30 min if 8 cm of standing water is required ? 

35. A person standing on the bank of a river , observe that the angle subtended by a tree on the opposite bank 

is 60°.When he retreates 20m from the bank , he finds the angle to be 30° . Find the height of the tree and 

the breadth of the river. 

 

 

 

SECTION- E 

Case study based questions are compulsory 

36. An army  pilot is flying an aeroplane at an altitude of 1200m observes some suspicious activity of two 

ships which are sailing towards it in the same directions and immediately report it to the navy chief . The 

angle of depression of the ships as observed from the aeroplane are 60° 𝑎𝑛𝑑 30° respectively. 

On the basis of above information , answer the following questions – 

(i) Find the distance between two ships. 

(ii) Find the distance of each ships from the plane ? 

37.A wooden article was made by scooping out a hemisphere from one end of a cylinder and cone from the 

other end .If the height of the cylinder is 40cm, radius of the cylinder is 7cm and height of the cone is 

24cm. 

On the basis of above information , answer the following questions- 

(i) Find total volume of article . 

(ii) Find CSA of the cone . 

(iii) Find volume of hemisphere . 

38. One day a child invited some friends in their house and they want to play some fun game . So, they 

considered block in the shape of a cube with one letter /number written on each face as shown below – 

 

 

On the basis of above information , answer the following questions-  

(i)Find the probability of getting an alphabet . 

(ii) Find the probability of getting a prime number. 

(iii) Find the probability of getting a vowel. 

 

 

 

2 3 5 7 A B 
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  आदर्श-प्रश्नपत्रम ्- 2023-24 

कक्षा - दर्मी 

संसृ्कतम्  (सम्प्रेषणात्मकम्)  

कोड् सङ्ख्या - 119 

 

समयः  – 3 होराः          पूर्ाशङ्ाः  - 80 
 

 

 

सामान्यनिदेर्ाः  – 

1. कृपया सम्यक् तया परीक्षरं् कुर्शन्त ुयत ्अस्मिि ्प्रश्नपते्र 12 पृष्ठानि मुनितानि सस्मन्त। 

2. कृपया सम्यक् तया परीक्षरं् कुर्शन्त ुयत ्अस्मिि ्प्रश्नपते्र 18 प्रश िाः  सस्मन्त। 

3. अस्मिि् प्रश्नपते्र चत्वारः  भागाः  सस्मन्त।  

‘क’  भागः          : अपनितार्बोधिम ्            10 अङ्ाः  

‘ख’   भागः         : रचिात्मककायशम्              15 अङ्ाः  

‘ग’   भागः          : अिुप्रयुक्तव्याकरर्म्       25 अङ्ाः  

‘घ’   भागः          :      पनितार्बोधिम ्             30 अङ्ाः  

 

4. प्रत्येकं भागम् अधधकृत्य उत्तराधर् एकस्मिि ्स्थािे क्रमेर् लेखिीयानि। 

5. उत्तरलखेिात् पूर् ंप्रश िस्य क्रमाङ्ः  अर्शं्य लखेिीयः । 

6. प्रश िस्य क्रमाङ्ः  प्रश िपत्रािसुारम ्एर् लखेिीयः । 

7. सर्ेषा ंप्रश िािाम् उत्तराधर् संसृ्कतिे लखेिीयानि। 

8. प्रश िािा ंनिदेर्ाः  ध्यािेि अर्शं्य पििीयाः । 
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‘क’ भागः     

            अपनितार्बोधिम्      (10 अङ्ाः ) 
 

1. 

 

* अधोधलधखतं गद्ांरं् पनित्वा प्रदत्तप्रश्नािाम ्उत्तराधर् संसृ्कतिे धलखत – 
 

आनदकालादेर् अिाकं देर्ः  भारतं जगनत प्रधसद्धम् अस्मि। भारतस्य प्रनतष् िे दे्व- संसृ्कतं 

संसृ्कनतिथा। संसृ्कतभाषा अस्य प्राचीिज्ञािनर्ज्ञाियोः  पोनषका महतं्ससृ्कतेः  च संर्ानहका 

अस्मि। कथ्यते अनप भारतीया संसृ्कनतः  संसृ्कते एर् निनहता र्तशते। नर्नर्धतायाम् एकता एर् 

अिाकं संसृ्कतेः  प्रधािम् अधभधािम।् यथा अत्र जिािां नर्नर्धाः  सम्प्रदायाः , नर्नर्धाः  भाषाः , 

पूजापद्धतयः  र्ेर्भषूाः  च सस्मन्त परम् अिेकतायाम् अनप एकतायाः  मधरुा धारा प्रर्हनत। ि 

केर्लम् एतार्देर् अनपत ुअस्य देर्स्य प्रकृनतः  अनप नर्नर्धतां धारयनत। अस्मिि ्देर्े सर्े ऋतर्ः  

क्रमेर् आगच्छस्मन्त। ते च र्सन्तः  ग्रीष् मः  र्षाश र्रद् हेमन्तः  धर्धर्रः  इनत। अत्र धभन् िधभन् ि- 

भाषाभानषर्ः  मतार्लस्मििः  सर्े भारतीयाः  एकं राष्‍ट् रध्वजं नमन्ति एकं राष्‍ट् रगानं च गायन्ति। एत े

रान्तष्‍ट् रय-उत्सवान ्सामाजजक-उत्सवान् च ममजित्वा आयोजयन्ति। भारतस्य वजैिष्‍टयमेतद् सववदा 

मनरिरं च भवेद् इमत सववः  भारतीयैः  काम्यत।े भारतं पुनः  मवश्वगुरं कतुुं सवे भारतीयाः  प्रयतिे। 

अ.   एकपदेि उत्तरत – (केर्लं प्रश िद्वयम)्  

        (i)  प्राचीिज्ञािनर्ज्ञाियोः  पोनषका का भाषा ? 

        (ii) अिाकं देर्े के क्रमेर् आगच्छस्मन्त ? 

        (iii) आनदकालादेर् कः  देर्ः  जगनत प्रधसद्धम ्अस्मि ? 
 

आ. पूर्शर्ाक्येि धलखत - (केर्लं प्रश िद्वयम)् 

        (i)   भारतीयाः  नकं कतुं प्रयतन्ते? 

        (ii)  अिाकं संसृ्कतेः  प्रधािम् अधभधािं नकम् ? 

        (iii) सववः  भारतीयैः  मकं काम्यते ? 
 

इ. अस्य अिुचे्छदस्य कृते उपयुकं्त र्ीषशकं संसृ्कतेि धलखत। 
 

ई. यथानिदेर्म् उत्तरत - (केर्लं प्रश ित्रयम)्  

(i) ‘धारयनत’ इनत नक्रयापदस्य कतृशपदं नकं भर्ते्? 

       (क) नर्नर्धताम ्                                     (ख) एतार्देर्   

               (ग) केर्लम्                                          (घ) प्रकृनतः  

        (ii) ‘प्रधािम’् इनत नर्र्ेषर्पदस्य नर्र्ेष्यपदं नकम्? 

               (क) संसृ्कतेः                                          (ख) अधभधािम ्   

               (ग) नर्नर्धतायाम्                                    (घ) एकता   

 

10 

 

 

 

 

 

 

 

 

 

 
 

1×2=2 

 

 

 

2×2=4 

 

 
 

 
    

    1 
 

1×3=3 
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        (iii) ‘अस्माकं देर्ः  भारतं जगनत प्रधसद्धम् अस्मि। ’टअत्र नकं नक्रयापदम्? 

              (क) भारतम ्                                        (ख) जगनत   

              (ग)  अस्मि                                          (घ) देर्ः  

        (iv) ‘नर्नर्धतायाम्’ इनत पदस्य नकं पयाशयपदं गद्ांर् ेप्रयुक्तम्?  

               (क) अिकेतायाम्                                   (ख) एकतायाः       

               (ग)  भारतीयाः                                      (घ) सम्प्रदायाः  
   

‘ख’ भागः   

                                          रचनात्मकं कायवम्     (15 अङ्ाः ) 

2. * भर्तः  अिजुः  तनिष् कः  पििं त्यक् त्वा चलदरूभाषयन्त्रेर् क्रीडिे सववदा व्यिः  भर्नत। तं  

   पििाथ ंप्रेरयि् धलधखतं पतं्र मञ्जषूायां प्रदत्तै: पदैः  पूरनयत्वा पुि: धलखत –  

    

परीक्षाभर्िात ्

नतधथः  .......................  

  

मप्रय (i) ........................ ! 

र्ुभार्ीषः । 
 

         ह्यः  एर् मातुः  (ii) ............. प्राप् तम्। माता अद्त्व ेपििे तर् (iii)................ 

दृष् वा जचन्तिता अन्ति। तं्व पििं त्यक्त्वा चलदरूभाषयन्त्रेर् (iv) ................... रत: भर्धस। 

अधशर्ानषशक-परीक्षायाम ्अनप तर् (v) .......... न्यूिाः  आगताः । एतद् तु ि (vi) ............। 

यद्नप क्रीडिम ्अनप (vii) .................. आर्श्यकं परं तत् र्ारीररकं भर्ेत्। क्रीडिेि सह 

पििम् अनप अत्यार्श्यकम।् ये चलदरूभाषयन्त्रेर् अत्यधधकं समयं र्ृथा यापयस्मन्त ते ि केर्लं 

(viii) ......... अस्वस्थाः  भर्स्मन्त अनपतु जीर्ि ेअसफलाः  अनप।  अतः  मम (ix) ........... 

अस्मि यत् समयस्य महत्त्वम् अर्गत्य (x) ................... ध्यािेि पि। मातमृपतृचरर्योः  मे 

प्रर्ामाः  कथनीयाः । 
 

तव अग्रजः , 

मोमितः   

                                   मञ्जषूा  

  
त्वम्, मािधसकरूपेर्, पत्रम,्  स्वास्थ्याय, अरुधचम्, 

तनिष् क, अङ्ाः , क्रीडिे, उधचतम्,परामर्शः । 

½×10=5 

 
 

 



Page 4 of 12 
 

 

3. * प्रदतं्त धचतं्र दृष््ट र्ा मञ्जषूायां प्रदत्तर्ब्दािां सहायतया पञ्च र्ाक्यानि संसृ्कतेि धलखत – 

 

मञ्जषूा – 

यज्ञपात्रम्, अननः , बालकाः , मन्त्रोच्चारर्म्, नर्द्ालयः , श्रद्धया,  

आसिानि, नतष्ठस्मन्त, प्रज्वलनत, भर्िम्, पादपाः , यजं्ञ कुर्शस्मन्त। 
  

अथर्ा 
 

* निम्नधलधखतं नर्षयम् अधधकृत्य मञ्जषूाप्रदत्तर्ब्दािां साहाये्यि न्यूिानतन्यूिं  पञ्चधभः   

     संसृ्कतर्ाक्यैः  एकम् अिचेु्छदं धलखत -  

“मदल्ली-मवश्टवपुिकमलेकम्” 

 मञ्जषूा  

प्रमतवषवम् , प्रगमतमदैान इमत स्थि,े फरबरी-माचवमास,े मवमवधामन पुिकामन,  

आपजणकाः , आयोज्यते, जनसम्मदवः , मवजभनटनाः  प्रकोष्‍ट‍ाः , पुिकप्रेममणः ,  

सामिजिक-गोष्‍टयः , भवन्ति, सांसृ्कमतककायवक्रमाः , अल्पमूल्यने। 
. 

1×5=5 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

 

 

 

1×5=5 

 
 

   

4. * अधोधलधखतां कथां मञ् जषूायाः  सहायतया पूरनयत्वा पुिः  धलखत-        

एकः  टोनपकानर्के्रता आसीत्। सः  एकदा (i) ------------- नर्के्रतुं  ग्रामान्तरं गच्छि् आसीत।् 

(ii) ------------ सः  श्रान्तः  अभर्त्, अतः (iii)  ----------- अधः  स्मस्थत्वा र्यिम ्अकरोत्। 

तत्र बहर्ः  र्ािराः  आसि्। (iv)  ----------- तस्य टोनपकाः  स्वीकृत्य र्ृक्षस्य उपरर अनतष् िि।् 

(v) ---------- टोनपकानर्के्रता जागृतः  अभर्त् तदा सः  टोनपकाः  ि दृष् वा बहु (vi) ---------- 

अभर्त्। सः  एकम ्(vii) ---------- अकरोत्। सः  र्ािरार्ां पुरतः  स्मस्थत्वा स्वस्य टोनपका ंदरूम ्

½×10=5 
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अधक्षपत्। (viii) ------------ र्ािराः  अनप स्वस्य स्वस्य टोनपकाः  अधः  (ix) ----------। 

चतुरः  टोनपकानर्के्रता टोनपकाः  एकत्रीकृत्य प्रसन् िः  भतू्वा ततः  (x) ------। अतः  कथ्यते-  बलात ्

बुनद्धः  श्रेष् िा।      

                                        मञ्जषूा 

 

 

 

अथर्ा 

* ररक् तस्थािानि पूरनयत्वा अधोधलधखतसंर्ादं पिुः  धलखत-  

जिकः  - पुत्र केर्र्!  (i) ------------------------------------  ? 

पुत्रः  -   हे जिक! अहं ‘गीतां’ पिानम। 

जिकः -  र्ोभिम् , ‘गीता’ इनत बहु उत्तमः  ग्रन्थः  अस्मि। ‘गीता’  महाभारतस्य भागः  अस्मि  

          यस्मिि् सप् तर्त श लोकाः  सस्मन्त।  

पुत्रः  -    आम्, (ii)  ------------------------------------------। 

जिकः  -  सत्यम्। नकं तं्व जािाधस यत् महाभारतस्य लेखकः  कः  अस्मि ? 

पुत्रः  -    आम् , जिक! (iii)  ------------------------------------------। 

जिकः  -  उत्तमम्,  संसृ्कतस्य प्रधसद्धौ ग्रन्थौ कौ ? 

पुत्रः  -    अहं मन्ये,  (iv) --------------------------------------। 

जिकः  -  सत्यम्, तं्व बहु जािाधस। अहं बहु प्रसन् िः  अस्मि। 

पुत्रः  -    धन्यर्ादः  नपतः ! (v) --------------------------------------। 

 

मञ्जषूा  

 

 

 

 

 

 

अगच्छत्, अिकुरर्र्ीलाः , र्ृक्षस्य, दुः खी,  

यदा, उपायम्, मागे, अधक्षपि्, टोनपकाः , त े

• अस्य लेखकः  महनषशः  र्ेदव्यासः  अस्मि।  

• त्वम् एतार्द्-ध्याििे नकं पिधस? 

• अहं पिानम अतः  जािानम। 

• एतौ प्रधसद्धौ ग्रन्थौ ‘रामायर्म्’ ‘महाभारतम्’ च िः । 

• एतेष ुश लोकेष ुश्रीकृष् र्स्य ज्ञािर्धशकाः  उपदेर्ाः  सस्मन्त। 

 

 

 

 

 

 

 
 

1×5=5 
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‘ग’ भागः  

                                        अिुप्रयुक्तव्याकरर्म्     (25 अङ्ाः ) 

5. * अधोधलधखतर्ाक्यषेु रेखानङ्तपदेषु सस्मधं सस्मधचे्छदं र्ा कुरुत- (केर्लं प्रश्नचतषु्टयम्) 

(i)   जीर्ाः  सर्ेऽत्र मोदन्ताम।् 

(ii)  प्रजनह नह+एिं ज्ञािनर्ज्ञाििार्िम।् 

(iii) कन्तश्टचद् उद्टदण्डः  बािकः  उवाच। 

(iv)  क्रोध एषः  रजोगुर्समुद् भर्ः । 

(v)   कथममव पश्येयं चक्षुः +हीनः ।   

1×4=4 

   

6. अधोधलधखतर्ाक्यषेु रेखानङ्तपदािा ंसमासं नर्ग्रहं र्ा प्रदत्तनर्कल्पेभ्यः  धचत्वा धलखत - (केर्लं 

प्रश्नचतषु्टयम्) 

(i)  मिमामितुङ्गशृङै्गः  सुिोजभता सूयोदयभूममः  इयम्। 

         (क) सूयशस्य भूनमः                                         (ख) सूयोदयस्य भूनमः    

         (ग) सूयोदयेि भूनमः                                       (घ) सूयोदयः  भूनमः    

(ii) वानराणा ंयूथपः  सवावन् वानरान् अवदत्। 

         (क) यूथस्य पमतः                                         (ख) यूथं मपबमत इमत  

         (ग) यूथं पामत इमत                                       (घ) यूथस्य पः   

(iii) सवेषाममप मितं्त्व मवद्यते समयम् अनमतक्रम्य। 

         (क) समयम ्यथा                                        (ख) यथासमयम ्    

         (ग) समयानुसारम ्                                       (घ) यथासमयः   

(iv) सः  सकरुर्म ्उच्चैः  अक्रन्दत्। 

         (क) करणया सि                                        (ख) सि करणम ्    

         (ग) करणा सि                                          (घ) सा करणा  

(v)  ततः  प्रनर्र्तः  व्यासिारदौ। 

         (क) व्यासः  िारदः                                         (ख) व्यासौ िारदौ च   

         (ग) व्यासः  िारदौ च                                      (घ) व्यासः  च िारदः  च 

1×4=4 
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7. अधोधलधखतर्ाक्यषेु रेखानङ्तपदािा ंप्रकृनत-प्रत्ययौ संयोज्य नर्भज्य र्ा उधचतम ्उत्तरं 

नर्कल्पेभ्यः  धचत्वा धलखत -  (केर्लं प्रश्नचतुष्टयम)्      

(i)  नर्पुला च अत्र र्िसम्पदा।  

     (क) नर्पुलः  + टाप्                                     (ख) नर्पलु + टाप ् 

     (ग) नर्पुल + ङीप ्                                          (घ) नर्पुल + इक् 

(ii) नर्द्वासं एर् चक्षषु्मन्तः  प्रकीनतशताः । 

     (क) चक्षसु्+मत्                                      (ख) चक्षुः +मतुप ्   

     (ग) चक्षरु+्मतुप ्                                            (घ) चक्षसु+्मतुप ् 

(iii) ईटा नह यस्यास्मि पुर+ङीप् प्रधािा। 

     (क) परुा                                                     (ख) परुः       

     (ग) परुी                                                      (घ) पूर्ाश 

(iv) अन्तस्मन् अवसरे समाज+‍क् कायुं मक्रयत।े 

      (क) सामाधजकम्                                      (ख) सामाधजकः   

      (ग) सामाधजकी                                              (घ) सामाधजका  

(v)  अर्क्रता यथा धचत्त ेतथा र्ाधच भर्ेत।् 

      (क) अर्क्र+टाप ्                                            (ख) अर्क्र+तल ्

      (ग) अर्क्र+ङीप्                                             (घ) अर्क्र+त्व  

1×4=4 

   

8. र्ाच्यािुसारम् उधचतपदैः  ररक्तस्थािानि परूनयत्वा अधोधलधखतं संर्ादं पिुः  धलखत –  

(केर्लं प्रश्नत्रयम्)   

आनदत्यः  – र्ैभर्! इदािी ंत्वया नकं मक्रयत े?  

र्ैभर्ः  –  आनदत्य! अधुिा तु मया (i) ----------- मक्रयते। का र्ाताश ? 

आनदत्यः  – िास्मि नर्र्षेः । (ii) ----------- क्रीनडतुं  बनहः  गम्यते, त्वमनप आगच्छ। 

र्ैभर्ः  –  ि। श र्ः  मम परीक्षा भनर्ष्यनत अतः  अद् (iii) ----------- सम्पूर्शनदिे पिानम। 

आनदत्यः  –अिु,  नकन्तु तं्व नकं पिधस ? 

र्ैभर्ः  –  गधर्तनर्षयस्य परीक्षा भनर्ष्यनत अतः  मया गधर्तनर्षयः (iv)  ----------।  

                                          मञ्जषूा  

 
   अिाधभः , पि् यते, अध्ययिम्, अहम्    

1×3=3 
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9. कालबोधकर्बै्दः  अधोधलधखत-नदिचया ंपरूयत- (केर्लं प्रश्नत्रयम)्    

(i) सौम्या प्रातः  --------- 4:00 र्ादिे उनत्तष् िनत। 

(ii) ततः  सा -----------05:15 र्ादि ेयोगाभ्यासं करोनत। 

(iii) तदिन्तरं सा ------------- 7:45 र्ादिे नर्द्ालयं गच्छनत। 

(iv) ----------- 2:30 र्ादिे आगत्य सा पिुः  भोजिं करोनत। 

1×3=3 

   

10. मञ्जषूायां प्रदत्तैः  उधचतैः  अव्ययपदैः  अधोधलधखतर्ाक्यषेु ररक्तस्थािानि पूरयत -   

(केर्लं प्रश्नचतषु्टयम्)      

        (i)   प्राणत्राणाय अश्टवाः  ----------- अधावन्। 

        (ii)  यूयं सवे -------- मम मप्रयाः । 

        (iii) अभ्यासेन त ुकौिेय वरैाग्येण ----------- गृह्यते। 

        (iv) अजुवन! त्वम् ------- मुञ्च ब्रह्मास्‍तटत्रम् एतत् मनवारमयतमु्। 

        (v) ---------- मवषादं िक्‍तटत्वा उद्यमः  मक्रयताम्। 
  

                                   मञ्जषूा 

  इदानीम्,  अमप, इतितः , एव, च 

1×4=4 

11. * अधोधलधखतर्ाक्यषेु रेखानङ्त-अर्ुद्धपदाय उधचतपदं धचत्वा र्ाक्यानि पुिः  धलखत –  

   (केर्लं प्रश्नत्रयम्)  

         

(i) प्रबुद्धौ ते दम्पती आश्टचयेण अमतष्‍ट‍ताम्। 

    (क)   सा                                                   (ख) तौ            

    (ग)   ताः                                                    (घ) तानि  

(ii) कुमागवम आजितस्य मम कीदृिः  इयं क्लेिपरम्परा।   

    (क)  कीदृिम ्                                              (ख)  कीदृश्यः              

    (ग)  कीदृिाः                                                (घ)  कीदृिी  

(iii) तं्व नतवनात् अन्यत ्मकम् अपरं जानामत? 

    (क)  जानन्ति                                                (ख) जानन्ति            

    (ग)  जािानम                                                 (घ) जानाजस  

(iv) राजा वैद्यान् आहूय पृच्छतु। 

     (क) अपचृ्छत ्                                                (ख) प्रक्ष्यस्मन्त     

     (ग)  अपृच्छः                                                  (घ) अपृच्छि्  

 

 

1×3=3 
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‘घ’ भागः  

                                         पम‍तावबोधनम्     (30 अङ्ाः ) 

12.  अधोधलधखतं गद्ांरं् पनित्वा प्रदत्तप्रश्नािाम ्उत्तराधर् संसृ्कतेि धलखत – 

तस्य र्चिं श्रतु्वा अश्रदे्धयं मत्वा मदोद्धताः  कपयः  प्रहस्य अर्दि्- ‘भो! नकनमदम ्उच्यत े? ि 

र्यं स्वगशसमािोपभोगाि ्नर्हाय अटव्यां क्षार-नतक् त-कषाय-कटु-रूक्षफलानि भक्षनयष्यामः ।’ 

तचु्छत्वा सािनुयनो यूथपमतः  सगद्टगदम् उक्‍तटतवान-् रसनास्वादिुब्ाः  यूयम ्अस्य सखुस्य 

कुपररणामं न जानीथ। अिं त ुवनं गच्छामम। 

    अथ अन्यन्तस्मन ्अिमन स मषेो यावत ्मिानसं प्रमविमत तावत् सूपकारेण अधवज्वजितकाष्‍ट‍ेन 

तामितः । ऊणावप्रचुरः  मषेः  वमिना जाज्वल्यमानिरीरः  मनक्स्थाम ्अश्टविािा ंप्रमविमत 

दािवेदनया च भूमौ िु‍मत। तस्य जितौ प्रिु‍तः  तृणषेु वमिज्वािाः  समुन्तिताः । 

अ.   एकपदेि उत्तरत – (केर्लं प्रश िद्वयम)्  

        (i)   मदोद्धताः  के आसन् ? 

(ii)  कः  सगद्टगद्टम ्उक्‍तटतवान ्? 

(iii) वमिज्वािाः  कुत्र समनु्तिताः  ? 
 

आ.  पूर्शर्ाक्येि धलखत - (केर्लं प्रश िद्वयम)् 

(i)  सािुनयनो यूथपमतः  सगद्टगदं मकम ्उक्‍तटतवान्? 

(ii)  मेषः  मकमथुं भमूौ ि‍ुमत ? 

         (iii) कीदृर्ः  मषेः  अश र्र्ालां प्रनर्र्नत ? 

* इ. मनदेिानसुारम् उत्तरत।    (केविं  प्रश्नद्वयम)्  

        (i)   ‘अर्दि्’ नक्रयापदस्य कतृशपदं नकं प्रयुक् तम्?  

 (ii)  ‘यथूपमतः ’ इनत पदस्य नकं नर्र्षेर्पदं प्रयुक् तम् ? 

 (iii)ट‘भूमौ’ इत्यस्य नकं पयाशयपदं प्रयुक् तम ्?                          

5 

 

 

 

 

 

 

 

½×2=1 

 

 

 

1×2=2 

 

 

 

1×2=2 

 

   

13. अधोधलधखतं पद्ांरं् पनित्वा प्रदत्तप्रश िािाम ्उत्तराधर् संसृ्कतेि धलखत – 

अपूर्शः  कोऽनप कोर्ोऽयं नर्द्ते तर् भारनत। 

व्ययतो वमृद्धमायामत ियमायामत सञ्टचयात् ॥ 

पानपिाञ् च सदा दुः खं सखंु र्ै पुण्यकमशर्ाम्। 

एरं् स्मस्थरतरं ज्ञात्वा साधुरृ्नतं्त समाचरेत्॥ 

अ.     एकपदेि उत्तरत -          (केर्लं प्रश िद्वयम)्   

(i) सरस्विाः  कोिः  कीदृिः  मन्यते ? 

       (ii) अयं कोिः  कथं ियमायामत ? 

       (iii) पणु्यकमशर्ां फलं नकम् ?  
 

5 

 

 
 

 

 

½×2=1 
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आ.    पूर्शर्ाक्यिे उत्तरत -           (केर्लं प्रश िद्वयम)्  

 (i) केषां सदा दुः खं भर्नत ? 

 (ii) भारिाः  कोिः  कथं वधवते ? 

        (iii) मनुष्यः  कां समाचरेत ्? 

* इ.   मनदेिानसुारम ्उत्तरत।          (केविं  प्रश्नद्वयम्)  

    (i)  “अपूर्शः  कोऽनप कोर्ोऽयं नर्द्ते तर् भारनत।”टअत्र र्ाक्ये नक्रयापदं नकम ्? 

 (ii)  ‘दुः खम’् इत्यस्य नकं नर्पयशयपदं प्रयुक् तम्? 

 (iii)ट‘अपूर्शः ’ इत्यस्य नर्र्षे्यपदं धचत्वा धलखत। 
 

1×2=2 

 

 

 

1×2=2 

 

 

   

14. अधोधलधखतं िाट्ांरं् पनित्वा प्रदत्तप्रश्नािाम ्उत्तराधर् संसृ्कतिे धलखत –  

श्रीकृष् र्ः  -  भो धमशराज! समीचीिं ि कृतं भर्ता। पुत्रर्ोकनर्ह्वलः  भीमसेिः  एकाकी एर् िौधरं्  

             हन्तुम् अधभधार्नत। 

युधधस्मष् िरः  - भगर्ि्! सः  त ुएकाकी एर् िोर्पुत्राय अलम्। 

श्रीकृष् र्ः  -  ि जािानत भर्ाि् िौर्ेः  चपलां प्रकृनतम्। नपतुः  िोर्ात् प्राप् तं ब्रह्मधर्रो िाम अस्‍त तं्र  

             नर्द्त ेतस्य पार्श्वे। यनद तत् प्रयजु्यते, सर्ाश पृथ्टवी दग्धा स्यात्। 

युधधस्मष् िरः  - अप्येर्म् ! आचायेर् कीदृर्ः  अिथशः  कृतः । नकं चपलबालकेभ्यः  एतादृर्- 

             भीषर्ािाम ्अस्‍त त्रार्ां प्रदािम् उधचतम् ?  

श्रीकृष् र्ः  -  शृर्ु तार्त्, आचायेर् तु नप्रयधर्ष्याय अजुशिाय प्रीत्या मिसा ब्रह्मास्‍त त्रधर्क्षा प्रदत्ता।  

             नकन्तु पुत्रप्रेमपराधीििे तेि अश र्त्थामा अनप तस्म‍ िक्षया र्स्मञ् चतः  ि कृतः । 

अजुशिः  -    अपरं च अस्‍त त्रधर्क्षाप्रदािात् पूर्शम् आचायशः  पुतं्र सार्धािम् अकरोत।् 

अ.     एकपदेि उत्तरत -   (केर्लं प्रश िद्वयम)्   

(i) आचायशः  िोर्ः  कं सार्धािम ्अकरोत् ?  

        (ii) भीमसिेः  कं हन्तुम् अधभधार्नत ? 

        (iii) िौर्ेः  प्रकृनतः  कीदृर्ी आसीत ्?  
 

आ.    पूर्शर्ाक्यिे उत्तरत -    (केर्लं प्रश िद्वयम)्  

 (i)   कदा सर्ाश पृथ्टवी दग्धा स्यात् ?  

        (ii)  िोणने अजुशिाय कथं ब्रह्मास्‍त त्रधर्क्षा प्रदत्ता ? 

        (iii) अश र्त्थामा कुतः  ब्रह्मधर्रो िाम अस्‍त तं्र प्राप् तर्ाि ्? 

* इ.  मनदेिानसुारम् उत्तरत।    (केविं  प्रश्नद्वयम)्  

        (i)   ‘पयावप्टतम्’ इत्यस्य नकं पयाशयपदम् अत्र प्रयुक् तम ्?  

 (ii)  ‘जािानत’ इनत नक्रयापदस्य कतृशपदं नकम् अत्र प्रयुक् तम ्? 

 (iii)ट‘दग्धा’ इत्यस्य नर्र्षे्यपदं धचत्वा धलखत। 

5 

 

 

 

 

 

 

 

 

 

 
 

 

½×2=1 

 

 

 

1×2=2 

 

 

 

1×2=2 
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15. * रेखानङ्त-पदानि आधृत्य प्रश्ननिमाशरं् कुरुत - (केर्लं पञ् चप्रश िाः ) 

(i) मम मपच्छानाम ्अपूवुं सौन्दयवम।्     

(ii) अयं पुरषः  पापं चरमत।  

(iii) राजा र्क्राय चक्षुः  समनपशतर्ाि्।  

(iv) एतद् मनुष्येषु न प्रयोक्‍तटतव्यम।् 

(v) मधुरभामषणी वाणी परुषं प्रि्टिादयमत। 

(vi) र्यं स्थलानि िष्‍ट् ुम् उत्सकुाः  स्मः । 

1×5=5 

   

16. मञ्जषूातः  समुधचतपदानि धचत्वा अधोधलधखत-श्लोकस्य अन्वयं परूनयत्वा पुिः  धलखत – 

नपता यच्छनत पुत्राय बाल्ये नर्द्ाधिं महत्। 

नपताऽस्य नकं तपिेपे इतु्यस्मक् तितृ्कतज्ञता ॥ 

अन्वयः  - नपता पुत्राय  (i) ----------- महत् (ii) -------------- यच्छनत। अस्य नपता नकं   

          तपः  (iii) ---------- इनत (iv) -----------  ततृ्कतज्ञता (मन्यते)। 
 

मञ्जषूा 

 

 

अथर्ा 

मञ्जषूायाः  साहाये्यि श्लोकस्य भार्ाथे ररक्तस्थािानि परूनयत्वा पिुः  धलखत -   

असंर्यं महाबाहो ! मिो दनुिशग्रहं चलम्। 

अभ्यासेि तु कौन्तेय! रै्रागे्यर् च गृह् यत े॥ 

भार्ाथशः - हे महाबाहो! अत्र संर्यः  िास्मि यत ्एतत ्(i) ------------ अतीर् चञ् चलम् अस्मि।  

          इदं (ii) --------- नियधन्त्रतं भर्नत परन्तु यनद र्यं पुिः  पिुः  (iii)  --------------  

         कुमशः , नर्रक् ताः  च भर्ामः  तदा निश चयेि एतत् र्र्ीकतुं (iv) ----------------। 

मञ्जषूा 

 

 

उस्मक् तः , नर्द्ाधिम्, तपेे, बाल्य े

   बहुकष् टेि, अभ्यासम्, र्क् िुमः , मनः   

½×4=2 

 

 

 

 

 

 

 
 

½×4=2 

 

 

   

17. अधोजिजखतवाक्यषेु रेखामितपदाना ंप्रसङ्गानुकूिम् उजचताथुं जचत्वा जिखत-  

(केर्लं प्रश्नचतषु्टयम्) 

(i)  यः  इच्छत्यात्मिः  श्रेयः । 

       (क) अर्घ्वम ्                                               (ख) गृिम्     

       (ग) कल्याणम ्                                            (घ)  अमूल्यम्  

1×4=4 
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(ii)  सर्शदा र्ारदा सदैर् अिाकं मुख ेनिर्सते्। 

       (क) सववदामयनी                                            (ख) सववम ्      

       (ग)  सववमितम्                                             (घ) वीणासमिता  

(iii) अहनिशरं् महािसं प्रनर्श्य यत ्पश्यनत तद् भक्षयनत ि। 

       (क)  मिानािम ्                                           (ख)  भोजनिािाम्   

       (ग)  मिािम ्                                              (घ)  मिती  

(iv) अस्माकं िेते्र सुवणवपरूरतः  कििः  मवद्यते। 

       (क) कलेर्ः                                                 (ख) काकः       

       (ग) सर्शत्र                                                   (घ) घटः      

(v) तस्यािं मनग्रिं मन्य ेवायोररव सुदषु्‍टकरम्।  

       (क) न्यासः                                                   (ख) र्र्ीकरर्म्     

       (ग) िेत्रम ्                                                   (घ) प्रसन् िः       
 

   

18. अधोधलधखत-कथां ररक् तस्थािानि परूनयत्वा पुिः  धलखत – 

एकदा भगवान ्बोजधसत्त्वः  (i) ------------ राजा अभवत्। सः  मिान ्दानी, मवनयिीिः , 

वृद्धोपसेवी च (ii) -------------। तस्य दानिीिताम ्िुत्वा  (iii) ------------- देिभे्योऽमप 

जनाः  तस्य देिम् आयान्ति स्म।  एकदा िक्रः  अमप तस्य  (iv) ----------------- परीजितमु् 

आगच्छत्। सः  नेत्रिीनयाचक-रूपेण आगि तं राजानम् एकं  (v) ---------------- अयाचत। 

राजा तस्म ैचिदु्ववयमेव प्रायच्छत्। प्रसनटनः   (vi) --------------- कमतपयभे्यः  मदनेभ्यः  पश्टचात ् 

पुनः  राज्ञः  परुतः  उपन्तस्थतः  अभवत्। सः  राज्ञः  िागवृमतं्त प्रिंसन ्नेत्रद्वयममप प्रिस्थापयत।् 

अमप च ितयोजनपयविं  (vii) ------------ पारं  िष्‍ट् ुं समथवः  भव इमत तस्म ैवरम् अयच्छत्। 

उच्यते अमप- नान्ति िागसमं (viii) -----------------। 

मञ्जषूा 

 

 

   आसीत्, जिवीनाम्, सखुम्, िैिानाम्  

   अन्यभे्यः , दानिीिताम्, िक्रः , नेत्रम।् 

½×8=4 
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NIRJA SAHAY DAV PUBLIC SCHOOL KANKE, RANCHI 

CLASS - X     SUB – S.ST 

HOLIDAY HOMEWORK 

 

Time Allowed: 3 Hours Maximum Marks: 80 

 

General Instructions: 
 

i. Question paper comprises Six Sections – A, B, C, D, E and F. There are 37 questions 

in the question paper. All questions are compulsory. 

ii. Section A – From question 1 to 20 are MCQs of 1 mark each. 

iii. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 

marks each. Answer to each question should not exceed 40 words. 

iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks 

each. Answer to each question should not exceed 60 words 

v.  Section D – Question no. 30 to 33 are long answer type questions, carrying 5 marks 

each. Answer to each question should not exceed 120 words. 

vi. Section E - Questions no from 34 to 36 are case based questions with three sub 

questions and are of 4 marks each. 

vii. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 37a from 

History (2 marks) and 37b from Geography (3 marks). 

viii. There is no overall choice in the question paper. However, an internal choice has 

been provided in few questions. Only one of the choices in such questions have to be 

attempted. 

ix.  In addition to this, separate instructions are given with each section and question, 

wherever necessary. 
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SECTION A 

MCQs (1X20=20) 
 

 

1. Rehman is a poor agricultural labour and needs a loan for cultivation on his small piece 

of land. 

Which of the following would DEFINITELY offer him a fair interest rate and flexible terms 

of credit? 

1 

A. village moneylender 

B. cooperative society 

C. commercial bank 

D. rich landowner 

 
 

2. Shazia's teacher asked her a question, to which she answered, "MGNREGA 2005". 

What could have been the teacher's question? 

1 

A. Name the act that was devised to implement the Right to Work. 

B. Name the act that was devised to implement the Right to Equality. 

C. Name the act that was devised to implement the Right to Freedom. 

D. Name the act that was devised to implement the Right to Education. 

 
 

3. Which of the following steps would guarantee the welfare of the employees in the 

organised sector? 

1 
P: payment of equal remuneration to men and women at the workplace Q: 
protection of the employment of women during the time of maternity R: 
prohibition of child marriage and providing relief to victims 

S: payment of a one-time bonus to all retired employees 
 

OPTIONS: 

A. only P and S 

B. only P, R and S 

C. only P, Q and S 

D. all - P, Q, R and S 

 

4. Which of the following is NOT an example of the process of globalisation? 

1 

A. Google's headquarters being in California with multiple offices across the world 

B. Railways being the largest public sector undertaking employer in India 

C. McDonalds introducing McAloo Tikki specially for the Indian menu 

D. Spanish family having masala dosas for their weekend breakfast 
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5. A multinational company (MNC) is a corporate organization that owns and controls 

production in more than one country. 

Accordingly, which of following countries has the BEST potential for an MNC to be set 

up? 

1 

A. Country W has a rich culture and ample biodiversity. 

B. Country X provides loans to foreign companies easily at high interest rates. 

C. Country Y has an educated workforce ready to work for affordable remuneration. 
D. Country Z has a rule which allows people from a specific religion to conduct business freely. 

 
 

6. Under the sustainable development goals, social equality with regards to access to 

resources is one of the most pressing challenges. 

Accordingly, which of the following crises is related to the statement above? 

1 

A. damage to infrastructure due to floods 

B. scarcity of clean water for consumption 

C. damage to crops caused by heavy rains 

D. combating water borne diseases in rural India 

 
 

7. Sharanya is making a list of natural resources for a project. She puts wind energy 

under one column and coal under another column. 

On what basis is she classifying the resources? 

1 

A. on the basis of origin 

B. on the basis of ownership 

C. on the basis of exhaustibility 

D. on the basis of status of development 
 
 

8. The Nicobar pigeon is a bird found only on small islands and coastal regions from the 

Andaman & Nicobar Islands, and further east - through the Malay Archipelago to the 

Solomon and Palau region. (Source - Wikipedia) 

Accordingly, which of the following kind of species would it fall under? 

1 

A. rare species 

B. extinct species 

C. endemic species 

D. vulnerable species 

 
 

9. Learning from Belgium's experience, which of the following steps could have MOST 

LIKELY avoided a civil war in Sri Lanka that ended in 2009? 

1 

A. making reservations in jobs for the Tamil speaking minority community 

B. dividing the entire country on the basis of linguistic lines to appease the citizens 

C. devising laws to accommodate the ethnic differences of citizens to ensure peace 
D. conducting a thorough census to strictly segregate the Indian Tamils from the Sri Lankan 

Tamils 
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10. Look at the world map given below and answer the following question. 
 

Which of the following deductions can DEFINITELY be made from the map? 1 

A. Argentina is the largest federal country in South America. 

B. Germany has states that share power with the centre. 

C. Asia has the maximum number of federal nations. 

D. China does not have provincial administrations. 

 
 

11. There are two statements given below, marked as Assertion (A) and Reason (R). 

Read the statements and choose the correct option. 1 
Assertion (A): In India, the literacy rate among women is significantly lower than among men. 
Reason (R): The patriarchal system in India gives more value to the education of the heir who 
carries on the family name. 

 

A. A is true but R is false. 

B. A is false but R is true. 

C. Both A and R are true and R explains A. 

D. Both A and R are true but R does not explain A. 

 
 

12. Country P has recently adopted democracy after a long struggle. 

Which of the following outcomes can the citizens of this country DEFINITELY expect due to 

this change? 

1 

A. sharp decrease in poverty in all communities 

B. more accountability on part of the government 

C. drastic rise in the national income due to sharp economic growth 

D. rules and laws to be drafted according to the needs of the majority groups 
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13. 'Opposition slams minister's remark; condemns rising fuel prices.' 
 

The above statement shows the important function of opposition parties in a democracy. 

Which of the following options does NOT fall under the functions of an opposition party? 

1 

A. auditing the government's spending and budget 

B. criticising the government for its shortcomings and mistakes 

C. asking questions from the government to ensure accountability 

D. mobilising the support of other parties to oppose the decisions of the government 
 
 

14. Which of the following shortcomings DEFINITELY exists in democratic regimes? 

1 

A. glorification of war 

B. sluggish decision making 

C. elimination of free market 

D. diffusion of aggressive nationalism 

 
 

15. Given below are some allegories used in Europe during the nationalist movement. 

Accordingly, which one of the following signified the beginning of a new era? 

1 

A. broken chains 

B. rays of the rising sun 

C. breastplate with eagle 

D. olive branch around sword 

 
 

16. Read the given data and answer the following question. 
 

Identify the country that MOST PROBABLY has a well-developed healthcare system but 

lesser average education than India. 1 

A. Sri Lanka 

B. Myanmar 

C. Pakistan 

D. Nepal 



Page 6 of 13  

17. The woodcut painting given below was created during the time when Indians were 

beginning to accept the idea of women’s education in the late 19th century. 
 

Which of the following scenarios was the artist MOST LIKELY trying to portray in this art 

piece? 1 

A. listening to music is the best way to spend one's free time 

B. increasing popularity of western idea of marriage 

C. challenging the conventional gender roles 

D. pleasure being the ultimate goal of life 

 
Note: The following question is for visually impaired candidates only in lieu of Q No. 17 

 

 

‘Tremble, therefore, tyrants of the world! Tremble before the virtual writer!’ 

What did Mercier mean by the above lines? 

 

A. rulers often attacked the writers in order to maintain their power over people 

B. the spread of print culture would bring down the spirits of intellectual writers 

C. printing of books had the potential to bring an end to despotism 

D. cruel leaders needed to reflect upon their actions 
 
 

18. Against which of the following forms of discrimination did Mahatma Gandhi launch a 

satyagraha in South Africa? 

1 

A. racism 

B. sexism 

C. ageism 

D. casteism 
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19. Look at the image given below. 
 

Which of the following goals of development should be prioritised in this region? 1 

A. reducing income disparities 

B. combatting climate change 

C. ending gender violence 

D. ensuring caste equality 
 

 
 

20. Monica is reading an abstract written by Tarabai Shinde. 

Which of the following is MOST LIKELY to be the central issue of this text? 

1 

A. religious indoctrination by priests 

B. miserable lives of farmers in debt 

C. plight of upper caste Hindu widows 

D. exploitation of children by factory owners 
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SECTION B 

VERY SHORT ANSWER QUESTIONS (2X4=8) 

 
 

21. 'Even ‘ready’ foodstuff in distant parts of the world might share common origins.' 

Justify the above statement with a relevant example. 2 

22. What are some ways in which caste demonstrates itself in politics? 2 

23. Briefly describe the two MAJOR ways that electricity is generated around the world for human 
consumption. 2 

OR 

Briefly describe any two non-conventional sources of energy. 

24. Why is the existence of a public sector necessary in any economy? 2 

 
 

SECTION C 

SHORT ANSWER BASED QUESTIONS (3X5=15) 

 
 

25. ‘Salt is something that is consumed by the rich and the poor alike across India.’ 
Which step by Viceroy Irwin enraged Gandhi to launch a nationwide protest movement using this 
essential item as a symbol? Elaborate with example. 3 

 

OR 
Gandhi was vehemently against the Anarchical and Revolutionary Crimes Act of 1919, 
popularly known as the Rowlatt Act. Elaborate. 

 

26. 'The organised working class owes respect to the first men who planted the standard of labour 
solidarity on the hostile frontier of the unorganised industry.' 
Analyse the above statement to highlight the rights that the organised industry enjoys now due to 
the solidarity shown by the labour groups earlier. 3 

 
 

27. Accommodation of social divisions is a crucial aspect of democracy. However, the extent of such 
accommodation depends on various perspectives of the people, politicians and the government. 
Briefly explain these factors. 3 

 

28. 'We have not inherited the world from our forefathers — we have borrowed it from our children.' 

Explain the above statement with an example. 3 
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29. Identify the road development project from the map given below and briefly describe it. 

3 

 

 

 
SECTION D 

LONG ANSWER BASED QUESTIONS (5X4=120) 

 

30. 'Business is all about solving people's problems - at a profit.' 

Explain how banks function like a business with respect to the above statement. 5 

 

OR 
 

'A bank is a place that will lend you money if you can prove that you do not need it.' 
Justify the above statement in relation to the banks' requirements to ensure the security of the 
funds they lend. 

 

 
31. 'Agricultural sector and manufacturing sector move hand in hand.' 

Justify the above statement with suitable examples. 5 

 

OR 

 
'Determining an ideal industrial location is a challenging undertaking.' 

Examine the above statement and elucidate. 
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32. Define political parties and describe any four problem areas in their working that they need to 
face and overcome. 5 

 

OR 

 
Describe some ways political parties around the world can be reformed to overcome the 
challenges they face. 

 

 
33. 'Language is power, life and the instrument of culture, the instrument of liberation.' 

Justify the above statement in light of the Nationalist Movement in Poland, Europe. 5 

 

OR 
 

'Importance of culture - art, poetry, stories and music help shape nationalist feelings.' 

Justify the above statement with respect to European nationalism. 
 
 

 

SECTION E 

CASE BASED QUESTIONS (4X3=12) 

34. Observe the two images given below and answer the questions that follow. 4 

 

Image-1 Image-2 

 
 

 Identify one similarity between the images given. (1) 

 How did James Watt contribute to the activity seen in image 2? (1) 
Analyse the effect on the labour force in the cotton industry due to James Watt's contribution.
 (2) 
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35. Read the passage given below and answer the questions that follow. 4 

 
Today, Indian agriculture finds itself at a crossroads. To make agriculture successful and 
profitable, proper thrust should be given to the improvement of the condition of marginal and 
small farmers. The green revolution promised much. But today it’s under controversy. The 
keyword today is “gene revolution”, which includes genetic engineering. Organic farming is 
[also] much in vogue today because it is practised without factory-made chemicals such as 
fertilisers and pesticides. A few economists 
think that Indian farmers have a bleak future if they continue growing food grains on the holdings 
that grow smaller and smaller as the population rises. India’s rural population is about 600 million 
which depends upon 250 million (approximate) hectares of agricultural land, an average of less 
than half a hectare per person. Indian farmers should diversify their cropping pattern from cereals 
to high-value crops. This will increase incomes and reduce environmental degradation 
simultaneously. Because fruits, medicinal herbs, flowers, vegetables, and bio-diesel crops like 
jatropha and jojoba need much less irrigation than rice or sugarcane. India’s diverse climate can 
be harnessed to grow a wide range of high-value crops. 

Source: NCERT Contemporary India, Chapter-4, Agriculture 

 Give two reasons why the Green Revolution is under controversy. 1 

 ‘ holdings that grow smaller and smaller as the population rises.' Evaluate 

why this is a concern. 1 
Bio-diesel crops like jatropha and jojoba have been referred to as high-value crops. Why? 2 

 
 

36. Read the passage, observe the image given below and answer the questions that follow. 

4 
 

 

 
The cartoon above refers to the problems of running Germany’s grand coalition government that 
includes the country's two major parties, namely the Christian Democratic Union and the Social 
Democratic Party. The two parties are rivals to each 
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other. They had to form a coalition government because neither of them got a clear majority 
of seats on their own in the 2005 elections. They take divergent positions on several policy 
matters but jointly run the government. 

Source (edited): NCERT 

 Which disadvantage of coalition governments is the image highlighting? 1 

 Why did the rival parties choose to make a coalition despite being rivals? 1 

 How does a democratic system, at times, cause such a challenge? 2 

SECTION F 

MAP SKILLS BASED QUESTIONS (2+3=5) 

37. 37a. Two places A and B have been marked on the given outline map of India. 2 

 
Identify A and B based on the events given below. 

A. The place of Cotton Mill Workers Satyagraha. 

B. The 1920 Indian National Congress session took place here. 
 

37b. On an outline map of India, locate and label any THREE of the following with suitable 
symbols. 

3 

A. Rana Pratap Sagar 

B. Singrauli Thermal Plant 

C. Gandhinagar Software Technology Park 

D. Paradip Port 
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NOTE: The following questions are for Visually Impaired Candidates in lieu of Q. No. 

37. Attempt any FIVE questions. 

5 

Name the place where an unfortunate incident happened, due to which the Non- 
Cooperation Movement was called off. 1 

 Name the place where the session of Indian National Congress was held in Dec 1920. 1 

 Name the state where Sardar Sarovar Dam is located. 1 

 Name the state where Singrauli thermal power plant is located. 1 

 Name the state where Pune Software Technology Park is located. 1 

 Name the state where Tuticorin Sea Port is located. 1 

 

 

 
(END) 
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 NIRJA SAHAY DAV PUBLIC SCHOOL 
                           KANKE, RANCHI - 06      

                                             HOLIDAY HOMEWORK, 2023-24 

      Class: X          INFORMATION TECHNOLOGY (SQP)           MM: 50 

            

General Instructions: 

1. Please read the instructions carefully. 

2. This Question Paper consists of 21 questions in two sections: Section A & Section B. 

3. Section A has Objective type questions whereas Section B contains Subjective type 

questions. 

4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15 

questions in the allotted (maximum) time of 2 hours. 

5. All questions of a particular section must be attempted in the correct order. 

6. SECTION A – OBJECTIVE TYPE QUESTIONS (24 MARKS): 

i. This section has 05 questions. 

ii. Marks allotted are mentioned against each question/part. 

iii. There is no negative marking. 

iv. Do as per the instructions given. 

7. SECTION B – SUBJECTIVE TYPE QUESTIONS (26 MARKS): 

i. This section has 16 questions. 

ii. A candidate has to do 10 questions. 

iii. Do as per the instructions given. 

iv. Marks allotted are mentioned against each question/part. 

 

SECTION A: OBJECTIVE TYPE QUESTIONS 

1. Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 

marks)  
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i. ________ operating system enables multiple users to work on the same computer 

at different times or simultaneously. 

a. multi-programming. 

b. multi-processors. 

c. multi-user. 

d. multi-tasking. 

ii. ________ is a series of postures and breathing exercises practiced to achieve 

control of body and mind. 

a. Meditation 

b. Nature Walk 

c. Yoga 

d. Physical Exercise 

iii. From the following statements, which one is not correct about the Qualities of an 

entrepreneur 

a. Successful entrepreneurs adapt the habit of hard work from a very early stage. 

b. Entrepreneur should not think optimistically about the future of the business. 

c. Confident entrepreneur must not deviate from his/her decisions too early in case 

success is delayed. 

d. Entrepreneurs like to function at their own will and rules. 

iv. To remove the files of temporary folder, we type ________ in Run dialog box after 

pressing “Windows button + R” on the keyboard. 

a. #temp# 

b. %temp% 

c. e$temp% 

d. &temp& 

v. ________ is not the quality of self-confident people. 

a. Dependent 

b. Positive Attitude 

c. Hard Working 

d. Commitment  
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vi. From the following statements, which one is not the positive impact of 

Entrepreneurship on society: 

a. Stimulates Innovation and Efficiency 

b. Creates Jobs and Employment Opportunities 

c. Solves the problems of the society 

d. Discourages welfare of the society 

2. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks) 

i. ________ key is used to reduce repetitive strain. 

a. Sticky 

b. Serial 

c. Mouse 

d. Toggle 

ii. ________ means that the query uses criteria you provide to hide some data and 

display only required data. 

a. Filtering 

b. Report 

c. Sorting 

d. Forms 

iii. Which of the following application is not appropriate to store data about ABC 

Bank customers? 

a. Open Office Base 

b. MS Access 

c. Open Office Writer 

d. MS Excel 

iv. When you open a new spreadsheet, by default, it has a sheet named ________ 

which is managed using tabs at the bottom of the spreadsheet. 

a. Sheet1 

b. Worksheet1 

c. Untitled1 

d. New Sheet   
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v. In a word processor, ________ option is selected for a scaled resizing of an 

image. 

a. Original Size 

b. Image Size 

c. Keep ratio 

d. Relative 

vi. Multiple copies of the same file leads to ________. 

a. Data Inconsistency 

b. Data Consistency 

c. Data Redundancy 

d. Foreign Key 

3. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks) 

i. It is a reference point for the graphics which is created while positioning any 

image. 

This point could be the page, or frame where the object is either a paragraph, or 

even a character in a word processor. 

a. Wrap Text 

b. Alignment 

c. Anchoring 

d. BookMark 

ii. Identify the property which help to set the number of characters in text/varchar type 

field of a table in DBMS. 

a. Entry Required 

b. Default Value 

c. Size 

d. Length 

iii. ________ is designed to help users with auditory impairments. 

a. Sound Sentry 

b. High Contrast  
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c. Serial key 

d. Show Sounds 

iv. State whether True or False: 

“It is not possible to create a default template in a Word processor”. 

a. True 

b. False 

v. Reviewers and authors can add their ________ to explain their changes in the cell 

of Spreadsheet. 

a. Comments 

b. Hyperlink 

c. Worksheet 

d. Macros 

vi. In Calc, Arguments passed to a macro from Calc are always ________. 

a. Cell Reference 

b. Value 

c. Both a and b 

d. Sheet Reference 

4. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks) 

i. Identify the website that offers offline blog service for free. 

a. Blogdesk 

b. Qumana 

c. WordPress 

d. both a and b 

ii. John has written a book consisting of fifteen chapters. He wanted to make the index 

of the book. Suggest him the option used to create the index automatically in a 

word processor. 

a. Tables 

b. Mail Merge 

c. Columns 

d. Table of Content  



Page 6 of 10 
 

 

iii. The length of the field value of text data type is ________ characters by default in 

DBMS. 

a. 10 

b. 25 

c. 20 

d. 50 

iv. A healthy lifestyle helps to keep and improve people’s health and well-being. It 

does not include: 

a. healthy eating habits 

b. stress management 

c. physical activities 

d. less sleep 

v. In a spreadsheet using to create a hyperlink to a web FTP or Telnet, click on the 

________ icon available in Hyperlink dialog box. 

a. browser 

b. hyperlink 

c. Internet 

d. mail & news 

vi. A ________ refers to a cell or a range of cells on a worksheet and can be used to 

find the values or data that you want formula to calculate. 

a. Cell reference 

b. Sheet Reference 

c. Block 

d. Autofill 

5. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks) 

i. Identify the mode, where we can modify in the structure of table? 

a. Datasheet view 

b. Structure view 

c. Design view 

d. All of the above  
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ii. BSNL stands for ________. 

a. Bihar Sanchar Nigam Limited 

b. Bharat Samachar Nigam Limited 

c. Bharat Sanchar Nigam Limited 

d. None of these 

iii. ________ function takes data from a series of worksheets or workbooks and 

summaries it into a single worksheet that you can update easily. 

a. Data Combination 

b. Data Merging Data 

c. Data Consolidation 

d. Concatenation 

iv. ________ store data in a single table which is suitable to store less amount of Data. 

a. Flat File 

b. Relational 

c. Mini File 

d. Single File 

v. In a word processor, by default, evaluates ________ levels of headings when it 

builds the table of contents. 

a. 3 

b. 7 

c. 10 

d. 12 

vi. In ________ Networks, all computers have an equal status and each terminal has 

an equally competent CPU. 

a. MAN 

b. WAN 

c. Client Server 

d. P2P  
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SECTION B: SUBJECTIVE TYPE QUESTIONS 

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6 marks) 

Answer each question in 20 – 30 words. 

6. What are the advantages of the ability to Work Independently? 

7. Name the Stress causal agents. 

8. What do you mean by Disk Defragmentation? 

9. Explain any two Myths about Entrepreneurship. 

10. Write any four roles of Entrepreneurs. 

Answer any 4 out of the given 6 questions in 20 – 30 words each (2 x 4 = 8 marks) 

11. State any two purposes of using Templates in a word document. 

12. Mention any two operations that can be performed using Macros in a spreadsheet. 

13. What do you mean by Hyperlinks in Spreadsheets? Give the two different types of 

Hyperlinks that can be used in Spreadsheets. 

14. List Numeric and Alphanumeric Datatypes in OpenOffice Base. 

15. Differentiate between Filter keys and Toggle keys in Microsoft Windows. 

16. In which situations Online shopping could be useful? Write any two popular 

ecommerce websites. 

Answer any 3 out of the given 5 questions in 50– 80 words each (4 x 3 = 12 marks) 

17. Anshita is preparing spreadsheet notes for her Term Exam. Help her to write short 

note on the following: 

1. Scenarios 

2. Goal Seek 

3. Solver 

4. Subtotal 

18. Tanmay is a Class X student. He has learnt Mail Merge option of a Word Processor in 

his computer period. But he is confused with few terms used to merge documents. 

Explain the following briefly, which will help Tanmay better understand the Mail 

Merge options. 

1. Merge Field 

2. Data Source  
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3. Main Document 

4. Mention two types of data on which mail merge can be applied. 

19. Consider the following table: Sales 

Sale_Id Prod_Name Price Discount 

1101 Laptop 65000 2500 

1103 Pen tab 29500 1000 

1105 Desktop 50000 1550 

1106 Printer 12000 2000 

1. How many fields and records are there in Sales table? 

2. Write SQL commands for the following: 

i. Display Sales ID and price of all products whose discount is more than 1000. 

ii. Display the details alphabetically by product name. 

iii. Display product name and sales price after deducting the discount from the 

price. 

Note: Sales price can be calculated as (price-discount) 

20. Your friend owns a chemist shop, he needs to keep records of the medicines with their 

id’s, date of purchase, expiry date, price, etc. in a database program. But he does not 

have any knowledge about the database. Explain to him the following to get a better 

understanding of the DBMS concepts. 

1. What is DBMS? Explain in brief. 

2. Name any two database programs which can be used to create a table and store the 

data as per the requirement. 

3. Which field can be set as a Primary Key? 

4. Is it possible to make more than one field as a primary key in your table? 

(Yes/No). Justify your answer.  
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21. Vicky is a student of class X. He used to get the work based on internet surfing, But he 

is not aware of the internet and its terminology. Being a friend of Vicky, help him in 

finding the answers of the following questions. 

a. What do you mean by Internet Service Provider? 

b. Expand the following terms: 

i. WAP 

ii. W3 

c. Mention any two advantages of Networking. 

d. What is a Blog? Name any two Online Blogs. 

 

 

Note: Prepare the solution in A4 sheets  

and submit on 26.10.2023. 

 

 

********** 
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Sample Question Paper 2023-24 

Class X  

Science (Subject Code – 086)  

 

Max. Marks: 80 Time Allowed: 3 hours 

General Instructions: 

i. This question paper consists of 39 questions in 5 sections. 

ii. All questions are compulsory. However, an internal choice is provided in some questions. A student is 

expected to attempt only one of these questions. 

iii. Section A consists of 20 objective type questions carrying 1 mark each. 

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions 

should be in the range of 30 to 50 words. 

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these 

questions should be in the range of 50 to 80 words. 

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these 

questions should be in the range of 80 to 120 words. 

vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts. 

Section-A 

Select and write the most appropriate option out of the four options given for each 

 of the questions 1 - 20. There is no negative mark for incorrect response. 

Q. Nos. Questions Marks 

1 

 

Identify the product which represents the solid state in the above reaction. 

a) Barium chloride 

b) Barium sulphate 

c) Sodium chloride 

d) Sodium sulphate 

1 

2 The colour of the solution observed after 30 minutes of placing zinc metal to copper 

sulphate solution is 

a) Blue 

b) Colourless 

c) Dirty green 

d) Reddish Brown 

1 

3 Mild non-corrosive basic salt is 

a) Ca (OH)2 

b) NaCl 

c) NaOH 

d) NaHCO3 

1 
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4 On adding dilute sulphuric acid to a test tube containing a metal ‘X’, a colourless gas is 

produced when a burning match stick is brought near it. Which of the following correctly 

represents metal ‘X’?  

a) Sodium  

b) Sulphur  

c) Copper  

d) Silver  

1 

5 Which one of the following correctly represents Sodium oxide?  

 

1 

6 An element with atomic number_____ will form a basic oxide. 

a) 7 (2,5) 

b) 17  (2,8,7) 

c) 14  (2,8,4) 

d) 11  (2,8,1) 

1 

7 An element ‘M' has 50% of the electrons filled in the 3rd shell as in the 2nd shell.  The 

atomic number of ‘M’ is: 

a) 10 

b) 12 

c) 14 

d) 18 

1 

8 Generally food is broken and absorbed within the body of organisms. In which of the 

following organisms is it done outside the body? 

a) Amoeba 

b) Mushroom 

c) Paramoecium  

d) Lice 

1 

9 Receptors are usually located in sense organs. Gustatory receptors are present in 

a) tongue 

b) nose 

c) eye  

d) ear 

1 

10 A farmer wants to grow banana plants genetically similar enough to the plants  already 

available in his field. Which one of the following methods would you suggest for this 

purpose? 

a) Regeneration 

b) Budding  

c) Vegetative propagation 

d) Sexual reproduction 

1 
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11 Height of a plant is regulated by: 

a) DNA which is directly influenced by growth hormone. 

b) Genes which regulate the proteins directly. 

c) Growth hormones under the influence of the enzymes coded by a gene. 

d) Growth hormones directly under the influence a gene. 

1 

12 A sportsman, after a long break of his routine exercise, suffered muscular cramps during a 

heavy exercise session. This happened due to:  

a) lack of carbon dioxide and formation of pyruvate. 

b) presence of oxygen and formation of ethanol. 

c) lack of oxygen and formation of lactic acid. 

d) lack of oxygen and formation of carbon dioxide. 

1 

13 An object is placed in front of a convex mirror. Its image is formed :     

a) at a distance equal to the object distance in front of the mirror.  

b) at twice the distance of the object in front of the mirror. 

c) half the distance of the object in front of the mirror. 

d) behind the mirror and it’s position varies according to the object distance. 

1 

14 When light enters the atmosphere it strikes on extremely fine particles, which deflect the 

rays of light in all possible directions, This is due to - 

a) reflection of light 

b) atmospheric refraction 

c)  scattering of light 

d)  dispersion of light 

1 

15 In 1987, an agreement was formulated by the United Nations Environment Programme 

(UNEP) to freeze the production of “X” to prevent depletion of “Y”. “X” and “Y” 

respectively referred here are: 

a) Ozone; CFCs  

b) CFCs; rays  UV  

c) CFCs; Ozone  

d) UV rays; Diatomic oxygen 

1 

16 Which of the following features relates to biodegradable substances? 

a) Broken down by biological processes 

b) Remain inert  

c) Persist in environment for long time  

d) May harm the ecosystem 

1 

 Question No. 17 to 20 consist of two statements – Assertion (A) and Reason (R). Answer 

these questions selecting the appropriate option given below:  

a) Both A and R are true, and R is the correct explanation of A.  

b) Both A and R are true, and R is not the correct explanation of A.  

c) A is true but R is false.  

d) A is false but R is true. 

 

17 Assertion: Rusting of Iron is endothermic in nature. 

Reason:  As the reaction is slow, the release of heat is barely evident.  

1 

18 Assertion: Probability of survival of an organism produced through sexual reproduction is 

more  than that of organism produced through asexual mode. 

Reason: Variations provide advantages to individuals for survival. 

1 
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19 Assertion : A compass needle is placed near a current carrying wire. The deflection of the 

compass needle decreases when the magnitude of the current in the wire is increased. 

Reason : The strength of a magnetic field at a point near the conductor increases on 

increasing the current. 

1 

20  Assertion: Biodegradable substances result in the formation of compost and natural 

replenishment.   

Reason: It is due to breakdown of complex inorganic substances into simple organic 

substances.  

1 

Section-B 

Question No. 21 to 26 are very short answer questions 

21 Dil. HCl is added to Zn granules.” How will you prove that chemical change has taken place 

here?  Support your response with two arguments. 

2 

22 State the post-fertilisation changes that lead to fruit formation in plants. 2 

23 What is the purpose of making urine in the human body? Name the organs that stores and 

releases the urine. 

OR 

Why do arteries have thick and elastic walls whereas veins have valves? 

2 

24 The refractive indices of three media are given below:  

Medium Refractive Index 

A 1.6 

B 1.8 

C 1.5 

A ray of light is travelling from A to B and another ray is travelling from B to C.  

(a) In which of the two cases the refracted ray bends towards the normal?  

(b) In which case does the speed of light increase in the second medium?  

Give reasons for your answer. 

2 

25 A piece of wire of resistance R is cut into three equal parts. These parts are then connected 

in parallel. If the equivalent resistance of this parallel combination is R1, what is the value 

of the ratio R1 : R? 

OR 

Refer to the image below and state how the magnetic field pattern indicates regions where 

the magnetic field is stronger outside the magnet? What happens to the magnetic field 

when the current in the circuit is reversed? 

 

2 



5 
 

26 Study the food chain given below and answer the questions that follow: 

 

a) If the amount of energy available at the third trophic level is 100 joules, then how 

much energy will be available at the producer level? Justify your answer. 

b) Is it possible to have 2 more trophic levels in this food chain just before the fourth 

trophic level? Justify your answer. 

2 

Section-C 

Question No. 27 to 33 are short answer questions 

27 The given reaction shows one of the processes to extract the metals like Iron and 

Manganese. 

MnO₂ (s) + Al(s) → Mn(l) + Al₂O₃(s) + Heat 

a) Give reason why the  above reaction is known as a thermite reaction.   

b) Identify the substance oxidised and reduced in the above reaction. 

c) Give a reason why Aluminium is  preferably used in thermite reactions. 

3 

28 An element ‘M’ with electronic configuration 2 8 3 combines separately with Cl-, SO4-2 

anions.  Write the chemical formulae of the compounds formed. Predict with the suitable 

reason the nature of the bond formed by element ‘M’ in general. How will the electrical 

conductivity of the compounds formed vary with respect to ‘M’? 

OR 

A reddish-brown metal ‘X’, when heated in air, gives a black compound ‘Y’, which when 

heated in presence of H₂ gas gives ‘X’ back.   ‘X’ is refined by the process of electrolysis; 

this refined form of ‘X’ is used in electrical wiring. 

Identify ‘X’ and ‘Y’. Draw a well-labeled diagram to represent the process of refining ‘X’. 

3 

29 We are advised to take iodised salt in our diet by doctors. Justify it's importance in our 

body.  

3 

30 What is the probability of a girl or a boy being born in a family? Justify your answer. 3 

31 (i) Explain why the refractive index of any material with respect to air is always greater 1. 

(ii) In the figure below a light ray travels from air into the semi-circular plastic block. Give 

a reason why the ray does not deviate at the semi-circular boundary of the plastic 

block. 

 

(iii) Complete the ray diagram of the above scenario when the light ray comes out of the 

plastic block from the top flat end.  

1+1+1 

32 (i) State the law that explains the heating effect of current with respect to the measurable 

properties in an electrical circuit. 

(ii) List the factors on which the resistance of a conductor depends. 

2+1 
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33 Anannya responded to the question: Why do electrical appliances with metallic bodies are 

connected to the mains through a three pin plug, whereas an electric bulb can be connected 

with a two pin plug? 

She wrote: Three pin connections reduce heating of connecting wires. 

(i) Is her answer correct or incorrect? Justify. 

(ii) What is the function of a fuse in a domestic circuit? 

2+1 

Section-D 

Question No. 34 to 36 are long answer questions. 

34 a) Rehmat classified the reaction between Methane and Chlorine in presence of sunlight as 

a substitution reaction.  Support Rehmat’s view with suitable justification and illustrate 

the reaction with the help of a balanced chemical equation. 

b) Chlorine gas was prepared using electrolysis of brine solution.  Write the chemical 

equation to represent the change. Identify the other products formed in the process and 

give one application of each.   

OR 

Raina while doing certain reactions observed that heating of substance ‘X’ with vinegar like 

smell with a substance ‘Y’ (which is used as an industrial solvent) in presence of conc. 

Sulphuric acid on a water bath gives a sweet-smelling liquid ‘Z’ having molecular formula 

C4H8O2. When heated with caustic soda (NaOH), ‘Z’ gives back the sodium salt of and the 

compound ‘Y’.  

Identify ‘X’, ‘Y’, and ‘Z’. Illustrate the changes with the help of suitable chemical 

equations. 

5 

35 Given below are certain situations. Analyze and describe its possible impact on a person: 

a) Testes of a male boy are not able to descend into scrotum during his embryonic 

development. 

b) Vas deferens of a man is plugged. 

c)  Prostate and seminal vesicles are not functional. 

d)  Egg is not fertilised in a human female. 

e)  Placenta does not attach to the uterus optimally. 

OR 

a) A doctor has advised Sameer to reduce sugar intake in his diet and do regular exercise 

after checking his blood test reports. Which disease do you think Sameer is suffering 

from? Name the hormone responsible for this disease and the organ producing the 

hormone.  

b) Which hormone is present in the areas of rapid cell division in a plant and which 

hormone inhibits the growth? 

5 

 

 

 

 

 

 

 

 

3+2 

36 

 

The above image shows a thin lens of focal length 5m.  

(i) What is the kind of lens shown in the above figure? 

(ii) If a real inverted image is to be formed by this lens at a distance of 7m from the optical 

centre, then show with calculation where should the object be placed? 

(iii)  Draw a neatly labelled diagram of the image formation mentioned in (ii) 

OR 

A 10 cm long pencil is placed 5 cm in front of a concave mirror having a radius of curvature 

of 40 cm.  

1+2+2 

 

 

 

 

 

 

 

 

 

 

 

 

2+1+2 
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(i) Determine the position of the image formed by this mirror. 

(ii) What is the size of the image?  

(iii) Draw a ray diagram to show the formation of the image as mentioned in the part (i). 

SECTION - E 

Question No. 37 to 39 are case-based/data -based questions with 2 to 3 short sub-parts.  

Internal choice is   provided in one of these sub-parts. 

37 The table given below shows the hints given by the quiz master in a quiz. 

S.NO HINT 

(i) Substance ‘C’ is used as a preservative. 

(ii) ‘C’ has two carbon atoms; ‘C’ is obtained by the reaction of ‘A’ in presence of 

alkaline Potassium permanganate followed by acidification.  

(iii) Misuse of ‘A’ in industries is prevented by adding Methanol, Benzene, and 

pyridine to ‘A’. 

(iv) ‘F’ is formed on heating ‘A’ in presence of conc Sulphuric acid. 

(v) ‘F’ reacts with Hydrogen gas in presence of Nickel and Palladium catalyst. 

Based on the above hints answer the following questions 

a) Give the IUPAC names of A and F 

b) Illustrate with the help of chemical equations the changes taking place. (A  C and A F) 

OR 

 Name the chemical reactions which occur in steps 2 and 5.  Identify the compounds 

formed in these steps if ‘A’ is replaced with its next homologue. 

4 

38 Figures (a) to (d) given below represent the type of ear lobes present in a family consisting 

of 2 children – Rahul, Nisha and their parents. 

 

 

Excited by his observation of different types of ear lobes present in his family, Rahul 

conducted a survey of the type of ear lobes found {Figure (e) and (f)} in his classmates. He 

found two types of ear lobes in his classmates as per the frequency given below: 

Sex Free Attached 

Male 36 14 

Female 31 19 

 On the basis of above data answer the following questions. 

a) Which of the two characteristics - ‘free ear lobe’ or ‘attached ear lobe’ appears to be 

dominant in this case? Why?   

b)  Is the inheritance of the free ear lobe linked with sex of the individual? Give reason for 

your answer.  

c) What type of ear lobe is present in father, mother, Rahul and his sister Nisha? Write the 

genetic constitution of each of these family members which explains the inheritance of 

this character in this family?  

(Gene for Free ear lobe is represented by F and gene for attached ear lobe is represented 

by f for writing the genetic constitution).                 

OR 

4 
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Suresh’s parents have attached earl obes. What type of ear lobe can be seen in Suresh 

and his sister Siya? Explain by giving the genetic composition of all.                       

39 

 

Vinita and Ahmed demonstrated a circuit that operates the two headlights and the two 

sidelights of a car, in their school exhibition. Based on their demonstrated circuit, answer 

the following questions. 

(i) State what happens when switch A is connected to 

a) Position 2 

b) Position 3 

(ii) Find the potential difference across each lamp when lit. 

(iii)  Calculate the current  

a) in each 12 Ω lamp when lit.  

b) In each 4 Ω lamp when lit.  

OR 

(iv) Show, with calculations, which type of lamp, 4.0 Ω or 12 Ω, has the higher power.  

1+1+2 

 

******* 
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